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O W1 AAL 51
(2%l : ng-TEQD/Sm’)
S84 Al A T 4 7 7] & ] ar
2.1 | 35 AAEAF 128848704 0.02 5.0
3.7 | YA ALIFAE1E)) 0.00 0.1
4. 11 | LA AL FA A7) 0.00 0.1 Do P
9.16 | +9A AL3|5EAH1E 7)) 0.09 0.1 SR
9.17 | LA ALSFAE(2E7]) 0.02 0.1
O A=A : 1670 (EA 5, 24 11)
- 24
(%] : ng-TEQ/Sm’)
LA A A ZER 7] = H] 31
5. 14 | A AHE HrlEsdAgAA 0.00 0.1
5.15 | F¥A A FAA 0.01 0.1 A LA &
5.19 | 834 Zoje BAAE I 0.00 0.1 &
5.22 | RHEA A FAA 0.00 0.1
11. 10 | HAHA] A 334 11.57 10.0 gﬁﬂf

29 =422 23 & 3a g

A4S
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AL Al A 2 3} 7% H] 11

6. 17 | FAA (F)AJE = 1.94 5.0

6. 19 | XA ZHAY 5.94 5.0

6.20 | EHA (F)MEAH 0.83 5.0 ARFEY 1=

9.26 | LHA Mz 0.64 10.0 azpAl

9.29 | ZHA Y234 0.68 10.0

10. 8 | XA S| HF 427 5.0

10. 22 | 7E Al AL S FAA 0.01 0.1

10. 27 | LA B A A A 0.00 0.1 A By =
10. 28 | JARA AA3FA A 0.00 0.1 aZpAA

11. 5 | A 24 d2AlE 0.02 0.1

1.7 | A4 24 11.25 s0 | T
] 20099 AH

O A=HA : 227 (EA 11, 24 11)

B

(F9 : ng-TEQ/Sm’)

AL Al A g 2 3} 7% H] a1

2.5 AL (F)R1 0.70 1.0 AR 1

3.4 A @A 3E 4.80 10.0 Al

5. 11 EA ARG A 0.03 0.1

5. 14 LA AL B A E(257]) 0.01 0.1

5. 15 ARAl A 3 Al A 0.00 0.1

5. 19 A AL 3] A A 0.00 0.1

10.5 | B4 A3 FAA 0.08 0.1 *i%?‘lﬂé%

10. 9 A BAAA I FAA 0.01 0.1 )

10. 12 G A B A A A 0.00 0.1

10. 14 AA] FA 278 Al H 0.00 0.1

10. 16 AA A7 EFTA AL 0.00 0.1
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AAL A A A A 3} 7| v 31
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4.29 | &FA dYHZ 0.23 1.0
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- . 52| A L
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10. 30 | FFA (F)FFES 0.91 5.0
[ 20109 23 (9€2 71%)
O "W HAb 24
(%% : ng-TEQ/Sm’)
=49} Al A H A 7} 7% H] 11
4. 30 | JAFA ALIFAH1EY)) 0.03 0.1 A B | &
4.29 | JARA AL FAH Q2B 0.01 0.1 SR
O A=HH .54 (EH 3, 24 2)
(%] : ng-TEQ/Sm’)
AALA A2 A 3} 71 vl 31
‘09.12.14 | ZHA YR ) 3.04 5.0 -2
- g ARFE T
09.12.15 | ZFHA] t7|(ME A }) 1.49 5.0 aZAA
2.23 | &AA WY EQ2E7]) 218 1.0 wy
2.24 | £9A WY=EE]) 0.73 10 | AR
A
7.5 | &AA WY EQ237]) 0.27 1.0
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[0 20074 A7) =3 sk 2533
ZEZRAY(EHI) A ! = |
(mg/kg)
D] AFEeH H O K0l &HC HCOOE 11.39 EETEFYF
D] A40geH5 H O K0l &HC HCONEZ 18.21 "
= 20| A0ets T O1 91 0] Z+C| BICI O 22 3.41 ”
=1 el &g HULEZXI2 0.60 4
S22 12 el & HLULEZX2 1.67 ”
2 I MAIOIE A6 el ek HCOOE= 0.12 "
HA2 =18 H O K0l &HC HCOOE 11.73 "
HA2 =18 HOAOEX HCOOE 0.15 ”
ot M2 S5 el e CHOIOF Kl = 0.03 "
SN2 S8 H O KI0| &HC HCOOE 2.42 "
HAZ2 =8 HOAOEX HCONEZ 0.14 "
obAH MY =1 H O K0 & HCONE= 3.93 "
obal MY =1 HO A0 EL HCOOE= 0.12 "
otAl MY =6 H O K0l &HC HCOOE= 1.63 "
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orAE MY =7 H O K0l & HCONE= 8.20 "
otAl MY 7 HO A0 EL HCOOE= 0.14 "
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mel3el3a s #el9 el & Sz 20elEA 0.43 ”
oel3el3a ths #el9 H O K0l & HCONE= 17.29 "
oel3el3a ths #el9 HOAOEX HCONE= 0.13 "
melael3a & 3213t el & EESIE EES 4.11 4
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AJtol&el lol=aH HI O 941 0] &HC HCOOE 7.71 "
AJtol&el lol=aH HOHAOIE HCOOE 0.13 "
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Al - T XA (EHI) A=A & H] 31
(mg/kg)
2ol 326 sy 2z212/EA 0.06 |EZ5E%
2ot 5|26 H 04 4 01 Z+C BIC) O £ 4.44 y
5t
2ot 526 HI 0 910l £ e 0.11 y
w32lot 2% HI 04 910l Z | HOHE R 9.32 y
HUIRI 142 QR HLUERTS 0.06 y
aHUIRI 182 BEE HLUERTS 0.10 y
BEE CHOIOF Xl = 0.07 y
SEIES HIFEA 38
IHI 01 21 01 Z+C| BICI B £ 0.83 y
HIEEA 78 H 01 91 0] Z C| HIC) O £ .16 y
HIEEA 128 2w CHOIOF Xl = 0.10 y
Nawe| 2z 04 910l Z | HOIHE R .60 y
04 210l Z | HOHE R 2.61 y
Nelwez| 5
04 210l Z | HUEZX 2 0.17 y
HES
Nelwel 138 104 240l Z | HOHE R .42 y
NeEweIHEs 18 I 04 910l Z | HOIHE R 2.09 y
NeweI)s 58 HI 04 910l Z | HOIHE R 7.77 y
OLELIA M58 IHI 01 21 01 ZC| BICI B £ 2.20 y
OLELIA N6E IHI 01 21 01 ZC| BIC| O 22 0.72 y
bt OlELIA =28 Hl 01 911 0] F C| BICI B £ 2.43 y
OIELIA S48 HI 04 91101 & BICI B £ 0.98 y
OEUATE 08 H 01 91 0] Z C| BIC) O £ 2.41 y
CHOILAE 78 QI sz=2zAHg 19.28 y
=L _
CHOIHAEl 98 L szzuAle 14.77 y
CHOILAE 158 BEE szzuAHe 7.42 y
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2007y b7 =3 s 233
A3}
Al - ZEZY(EHI) N5 &

(mg/kg)

g4= 3 BEES Bl &4 20| S 0.39

S22 10 ORIEY =R 0.02

SN2 216 JelEY Le2eEA 0.07

e SN2 218 JelEY Le2eEA 0.05
=T O AEP| 1 JRIEg net2gzAs 0.03
OlAEWE| 18 JRIEY met22xA 0.03

OlAEWE| 25 ORIEY Let22EA 0.01

=2 16 Bl 2% A 0.11

= OFOEH I AE 10 H O 2 01 &+ C =R 1.08
La S22 2 H OIS0 E =R 0.21
+222 6 HO Q0 E Let2eEA 0.08

Mg g2 HO Q0 E X Let22EA 0.30

ot MY <3 H O S0l £ met22xA 0.22
MY <8 H O S0l £ met22xA 0.14

MY =9 HO Q0 E X Let22EA 0.03

YOoITEA(E) 6 HI 019101 E EE=E 0.06
YOITEA(HE) 6 JRIEC HUEZX 0.41
HOITEA(HE) 9 HO1$I 0| E =R 0.41

YOI A(E) 9 JeIEC HUE=2X 0.33
HEgA(HE) S3 HO{QI0IE Let2eEA 0.60
HEgA(HE) S5 H OIS0l E =R 0.56
HEgA(3le) g2 H O Q0 E =R 0.92
HEgA(39) 8 HO{ Q0 E =R 0.56
HEgA(39) M3 HO{ Q0 E Le2eEA 0.69
HEgA(3e) M4 H O S0l E =R 0.54
HEgA(3e) M4 H O 21 01 &+ C E32ZAHEY 9.06

AOHTHE) 1 HO{ Q0 E et2exA 0.03

MOHUIE) 5 HO{ Q0 E et2exA 0.10

ok AOHEI2) 11 HOI9I0IE X met22xA 0.12
AloHEI) 14 HOI9I0IE X a2z A 0.15

LIoHEIR) 16 DA Let22EA 0.33

LIOHBIR) 16 HO Q0 E Let22EA 0.16

obA 10 H O Q01 E 2 =R 0.19

obs 11 H O Q01 E 2 =R 0.16

obs 12 HO Q0 E 2% A 0.17

SAMMAE 5 HOQI0IE Let2eEA 0.01

AMAE 6 JRIEC =R 3.03

SMAE 6 H OIS0 E =R 0.02

SAHAE 17 eI Le2eEA 3.77

AMMAE 17 HO Q0 E Let2eEA 0.03

o3| A(UE) welt HO{ Q0 E =R 0.80

o321 A(HE) weal9 H O S0l E =R 0.75
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a3

SEAY(EHI) A ik H 1
(mg/kg)

melae|3a(zle) 3213t HHAOIES Oet22EA 0.27 FESEFTY
oty merae1a(sd) 32137 HOHHAOIES Iet22EA 0.14 ”
mel3e|3(s&d) melg HOAOIE Oet22EA 1.32 "
&+ E LEHTPC =2t gl &l OS2 EA 0.37 ”
22(UE) =8 el & CtOI Ot Kl = 0.76 "
gH= S9 HHAOIES Oet22EA 0.16 "
SFoled S11 HII Ol &HC E3zZAHE 0.73 "
Eole s15 H O /01 &L E0zZAHE 0.82 "
Eole =16 H O /01 &HCJ E0zZAHE 3.13 "
Ot2I(CH) ellol=at el &g Oet22EA 0.24 ”
2(8) HolIET HO ROl &L El 21HHI0IEME 0.80 "
dlet =3 gl &l OS2 EA 72.94 "
det 7 gl &l OS2 EA 49.30 ”
88 =1 el &gl El LUOHHI0IEHE 0.91 ”
88 =18 Jel & EI2MHI0IEHE 0.76 ”
88 =9 el & El 2UtHI0IEME 0.54 "
88 A1 el & El 21HHI0IEHE 0.89 "
88 A10 Jel & EI 2HI0IENHE 0.68 ”
=25 0FAHT HOAOIESF Oet22EA 0.03 "
=25 0tAHS HOAOIES OS2 EA 0.02 ”
=& #Il21 HOAOIES OS2 EA 0.05 "
=& HIl=1 HII Ol &HC HOHE 15.62 "
=& HIO=215 HOAOIES Oet22EA 0.03 "
=& #IO29 HOAOIES OS2 EA 0.09 "
g2 024 HOAOIES oer22xA 0.08 "
=g 027 HHAOIES Oet22EA 0.13 "
g5 2118 HOAOIESF Tet22EA 0.16 "
IS A AHIFOI 041 H O /01 &L E0zZAHE 2.18 "
20l &A 4 el & El 20 IEME 0.07 "
NP E228 HI A0l &L EJ=zZAHE 3.99 ”
OtAIOILE &=15 HOAOIES Oet22EA 0.08 "
OtAIOtLE =6 HOAOIES oet22xA 0.08 "
OtAIOtLE &9 HOAOIES oet22xA 0.07 "
OtAIOHLE A1 HOAOIES Oet22EA 0.06 "
OFAIOFLE M 15 HOAOIESF Oet22EA 0.08 "
235ter A2 HOAOIES OS2 EA 0.04 "
235t M4 HOAOIES OS2 EA 0.16 "
23ta A6 HHAOIES Oet22EA 0.05 "
XK OE) 2 HOHHAOIES Iet22EA 0.05 "
XEHOHE) 2 el & El 2o IEHIE 0.28 "
XIEHTHE) 5 HOSAOIEL oet22xA 0.07 "
XEHOE) 5 Ja&d El 21HHI0IEME 0.20 "
KAaHE ) ST HOAOIES Oet22EA 0.14 "
X&) =9 HHAOIEL oer22=xA 0.02 "
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23

S| FEAYENT) A& T3 B 31
(mg/kg)

AaH(E&d) =9 Je&d EIL2IHIOIEHE 0.19 EESEFTY
K&HEI &) A8 HHAOIE Iet222A 0.08 ”
B (3l&) =8 HO A0l EF Iet22 2 A 0.13 ”
BN (3 &) M1 HOHRAOIEL Iet22xA 0.02 "
BHI(Us) s2 HOHRAOIEL Iet22xA 0.02 "
KI&HEIH) M8 Je&d El 2IHHI0IEHE 0.54 "
DeloHtHE) 1 HO A0l &=k Iet22 2 A 0.07 "
DeloHUE) 2 HOHKAOIEL TI2tE22EA 0.04 ”
DelokzEl &) alol3e6 HOSAOIEL OS2 EA 0.15 ”
DloK(ElR) B X6 HOHOIESF Iet222A 0.22 ”
BH2(Us) =1 HOAO0IESF Iet22 2 A 0.11 ”
BH2(UE) = HOAOIEX Iet2zxA 0.09 "
=3ul EiZ2(sl &) €9 HAHAOIEX Iet22 2 A 0.06 "
B2 (3d) =4 HO A0l &=k Iet222A 0.06 "
OIele| 2 E ' HOAO0IESF ML 20l &= 0.03 "
oIoIe| ZE 1 H O /U0l &HCJ EJ2XANE 0.83 "
ool xE &1 HOAOIES #HIA20l = 0.02 "
Ielel 2 E =1 HIOI R0l &HC SEOZXAMNE 1.50 "
IetAF 2Holeit5 HOAO0IESF Oiet22EA 0.02 ”
I2HAt 2tol 3 HOAOIES oer22 = A 0.06 "
ICHAt etolede HOAOIES OS2 A 0.15 ”
Z2tA EFOIAA HOAO0IESF Oet22EA 0.02 ”
Z2tA EFOIA9 HOAO0IESF Oet22EA 0.02 ”
S 2 Jel&d El 20HHI01EHE 0.10 "
ot =3 HOHAOIES IetE222A 0.02 ”
FADE(N) 3 el & OS2 A 1.09 ”
FAZZE(M) 3 HOHOIESF IetE222A 0.03 ”
FAIDE(N) 5 HOHAOIEL Iet222A 0.10 ”
FAZYU(M) 5 HI IOl &L HOOHE= 42.94 "
RAIYE(E]) 518 HOSAOIEL oer22=ZA 0.01 "
FADY(F) =318 H IOl &HC E2ZANE 2.72 "
FAISY(S]) SEH2 HOAO0IESF Oiet22EA 0.03 ”
RATYY(S]) SSE5 HOAOIEL oer222A 0.02 "
FAIEY(3]) SE8 HOAOIEL oer22=A 0.02 "
FATSY(Z) SHEIM HOHHAOIE Oet22EA 0.03 ”
&g g0/328 HOHAOIES IetE22 2 A 0.11 ”
& glol38 HI A O &HC O 1.54 "
g4 40129 el & HLEZX &2 3.27 "
g 028 HOHAOIES Iet222A 0.02 "
& 028N H A0 &L HCONES 7.47 "
HISOH 6 HOSAOIEL oet22=ZA 0.04 "
HIONOIHI AEHCTH) EH Jel & oe22=A 1.29 "
BIONOIB] AEHTH) EH HOHAOIES Iet222A 0.05 ”
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Al - ZZRAY(EHI) NgH o
(mg/kg)
HIOI OB AEHDH) &2 H 01 Sl 0] £ 2 DEEEP 003 |ZEz2xo}
HIOOlHI AEHB!) =1 H 0190l £ 2 IEEEE-PN 0.27 y
0l = HIOIOIHI AEHBI) =1 B 0910l E2F NREEE-PN 0.32 y
HIOIOIBI AEHSI) =2 H 0910l E 2 IEEEE-PN 0.13 y
HIOOlHI AEHB!) A1 H o910l E 2 IEEEE-PN 0.34 y
e M= mosty 7 H 014 01 &+ CJ El 20 [EH! 0.06 y
MM A 014 e EEEEN 0.03 ”
ot
MsMA 0115 g PPN 0.03 y
3 282+ o138 H 01 0] &+ CJ m22TA 1.12 y
22210 62 JRIE s2zzAp 0.11 y
ror H 012 0] & CJ sozzAge 0.36 y
Sblx o=
QR s=zzApe 0.08 y
NNE 72 JREC sozzAge 0.12 y
e
N NNE 9= JREC sszuAgg 0.11 y
HIO|AEIS 42 JREC sozzAge 0.11 y
QR s=zzApe 1.20 y
HIOIAEIS 9= —
H 01201 & CJ sazzAge 1.14 y
Q=303 25 JeEY sozzAge 0.13 y
) H 01201 & CJ sazzAge 1.14 y
_ Q=03 142
= OelE E22ZAHE 0.12 "
e s=zzApe 0.12 y
m2A 232
JeEY szaq2E2A 0.12 y
124 =72 s SzemEA 0.12 y
_ Jeey sozzAge 013 P
L2 A A5E _ =
H 01 31/ 0] & 2 sozzAge 012 ”
== NBE H 012101 & CJ s=zzApe 1.12 y
Holaec Ues ) szanzA 1.11 y
oz yolaec =8= JREC) SzemEA 1.14 y
Holaec =32 ) szanEA 1.09 y
goa2c = 42 JREC SzemEA 1.12 y
DlOICIA 7| 8= TNENE NS 012 P
DlolCiAeal 9= H 01 311 0] & 2 EEEEEES 012 P
Jesy sozzAge 0.13 P
plxzE cals
b TR SzenEA 1.08 P
2=2E caps UL s2zzApg 0.14 P
PIRZE MRKIE Jeey sozzAge 013 P
2IXZE pH9E B sozzAge 0.14 P
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1 20084 SRS HEdd
HE5 5 (ng'ke)
A | =3 T Z g EY H| 3
Id | #Holge] | 2" | #Hode]
mome= ND 9.52 ND 0.12 EESETY
HCIHE ND 23.66 ND 0.31 "
e g2 HLIEZXI2 ND 12.78 ND ND "
IeE2EA ND 0.10 ND ND "
HC|HE ND 12.31 ND 0.1 "
ESZZANE ND 5.65 ND 0.86 n
SE3T
=& (10U ESZEAMNE ND 5.25 ND 1.43 "
SEHOIME ND ND ND 1.71 n
ot HsAA HEHHIME! ND ND 3.42 ND n
HCOOE ND 3.34 ND 0.12 ”
eakes ZEMA0IE HCioge ND 5.33 ND 0.05 n
HCIHE ND 3.1 ND ND "
HUEZXI2 0.31 0.26 ND ND n
SRE HLIEZXI2 0.48 1.44 ND ND "
HLIEZXI2 1.39 0.16 ND ND "
HIADH HUEZX2 0.12 0.1 ND ND "
5 HLUEZX2 0.15 ND ND ND "
0l S2ZA HCioge ND 3.60 ND ND n
S8TA g Hooge ND 6.51 ND ND n
SEZAQ HCIHE ND 6.26 ND ND "
FATY 23| 3 HCinige! ND 10.16 ND ND ”
=Y 1 Hooge ND 8.87 ND ND n
HOKEE ND 8.42 ND ND "
HCioge ND 7.97 ND ND "
HCIHE ND 12.29 ND ND "
mome ND 3.20 ND 0.16 n
nrel=e|2 Hooge ND 13.28 ND ND n
HCioge ND 0.30 ND 0.37 ”
HCioge ND 1.82 ND ND "
ot g Hoinge ND 0.36 ND ND ”
Aot HOoge ND 0.30 ND ND n
mome ND 0.99 ND 0.11 n
HCioge ND 2.56 ND ND "
oty HCoge ND 1.93 ND ND ”
HOoge ND 4.09 ND ND n
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AEEE(ngke)

ZXA4Y | FH | WIS &4 g E % H| 1
I | Hode] | a™ | #Hojdlo]
SozTANE ND 0.44 ND ND FEE2ol
A1 S| MR 2.58 ND 4.89 ND "
wi e ND 9.38 ND ND "
Mo SUEI MR 3.20 ND ND ND "
i} HC|HlR! ND 3.81 ND 0.18 ”
sz SZRTANE ND 0.31 ND ND "
oLl =3 SEIH MR 6.50 ND ND ND ”
e[%s S HC|HR ND 2.98 ND 0.17 "
o SIEIHIME] 2.25 ND ND ND "
=4 RER ND 1.78 ND 0.29 ”
wi 6.30 ND ND ND "
< SEIH MR ND 0.17 ND ND "
e I222EA ND 3.41 ND 0.23 ”
p HCIHE:R ND 0.05 ND ND ”
I2223A ND 1.84 ND 0.18 "
pJE BN A1 i ND 0.24 ND ND "
o) 7 R ND 0.60 ND 0.26 "
wal g wi ND 0.24 ND ND ”
I2223A ND 4.78 ND 0.12 "
22t a2 H w2 g R ND 1.32 ND ND "
el 9 R ND 2.73 ND ND ”
015 9 wi ND 0.04 ND ND ”
I2223A ND 2.12 ND 0.18 "
. 13 HCIHZR ND ND 4.15 ND ”
stof 14 SEIHI MR ND ND 1.20 ND "
W 6 SEIH| MR ND 4.76 ND ND "
g e 10 wi[EE ND 0.10 ND ND "
I222EA ND 12.98 ND 0.13 "
U e el R ND 16.27 ND 0.12 ”
wfi ND 0.55 ND ND ”
BHE 12 SESTNE ND 0.17 ND ND ”
I222EA ND ND ND 0.12 "
4 HCIHlR ND 0.27 ND ND ”
RIEES WS ; SZeuANE ND 0.19 ND ND "
SEIH MR ND ND ND 0.32 "
S| MR 9.44 ND ND ND
LA 220 ! CHOIOHK] = ND ND 0.01 ND "
8 SEIH| MR 8.47 ND ND ND "
= HC| KR ND 0.51 ND ND "
2= 2| a2 H L5 R ND 0.29 ND 0.14 "
g e ND 0.53 ND 0.15 "
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HEE5(ngke)

AT | E24% | gd | 23S T3 g E % H] 1L
I | #ojdlol | a™ | #Hojdol
2 i ND 3.24 ND 0.20 FEeEEY
s | &K 11 HCOHE ND 6.54 ND ND ”
18 HCINE: ND 8.25 ND ND ”
CIOIOHKI= 0.04 ND 0.08 ND ”
5
HLIEZXI2 3.92 ND 0.07 ND ”
BIE2|0} 3IH
CIOIOHKI= 0.06 ND 0.07 ND ”
7
HLUEZXI2 6.99 ND 0.27 ND ”
pine 1 HLIEZXI2 0.33 ND ND ND "
HLUEZXI2 0.38 ND ND ND ”
pine 6
HCIHER ND 4.18 ND ND ”
HLIEZXI2 0.35 ND ND ND 4
B maple 2 -
22 SI2H HCIHE:R ND 18.28 ND ND ”
HLUIEZXI2 0.46 ND ND ND ”
persimmon 6
LeE22EA ND 0.20 ND ND ”
HUEZXI2 0.08 ND ND ND ”
cherry 8
1e2z2EA ND 0.06 ND ND ”
1 HOHES ND 1.41 ND ND ”
o= s S| 3H| 5 HOHES ND 0.29 ND ND ”
9 HCIHE: ND 1.62 ND ND "
A6 ES2TANE ND 0.85 ND ND ”
HCIHER ND 8.69 ND 0.16 ”
=20llel | &H —
A8 ES2TANE ND 0.21 ND ND "
HCIHER ND 11.23 ND 0.23 ”
cel 6 SiEHAMEl ND ND 1.45 ND ”
== S| &H|
cal7 SIEIHIME ND ND 2.98 ND ”
M5 SiEHAMEl ND ND 217 ND ”
dlet Sl Kl M6 SIEIHIME ND ND 1.60 ND ”
HLIEZXI2 0.18 ND ND ND "
= HOHER ND 11.70 ND ND ”
=S{GES S| &K =g HCHER ND 6.80 ND ND ”
- EE] ND 12.21 ND 0.12 "
S HCINE: ND 3.36 ND ND "
AJH0| e |3 S8 HCOHES ND 1.83 ND ND ”
L9 HCHE= ND 10.37 ND ND ”
AL 3|3 L9 SE2ZEZAMHE ND 0.32 ND ND ”
AT WE V1 CIOIOtKl= ND 0.37 ND ND ”
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HE5 =(mg'ke)
XY | g | WS 594 g EY H| 1
I3 | #Hojdo] | I3 | ool
Ef0I7 6 eI ND 4.00 ND ND T EEY
21010t 14 e ND 0.43 ND ND ”
2%} SR | 2ot 7 il ND 2.86 ND ND ”
210101 9 wil=E ND 0.68 ND ND ”
ELOID 3 w[i=E ND 0.51 ND ND ”
=y HCHErR ND 10.55 ND ND ”
TRIZIZE | 32H =6 wil=E ND 11.84 ND ND ”
o7 HO|HEr ND 13.48 ND ND "
HUE2X2 | 0.19 ND ND ND ”
£4 I222EA ND 0.21 ND ND "
wi=E ND 3.94 ND 0.42 ”
HUEZXS | 0.27 ND ND ND "
K 6 IEEEEEN ND 0.12 ND ND ”
elE ND 3.44 ND 0.07 "
HUEZAS | 0.25 ND ND ND ”
OFAIOIL SRR 7 I2223A ND 0.18 ND ND "
HC MR ND 4.17 ND 0.10 "
HUE2X2 | 0.26 ND ND ND "
£ 14 Iz22EA ND 0.02 ND ND ”
HO| KR ND 3.43 ND ND ”
- HUE2X2 | 0.40 ND ND ND ”
- = 18 I22zIA ND 0.06 ND ND "
wi = ND 2.66 ND 0.11 ”
HOHeR! ND 2.03 ND ND "
XAt e -
HC|HER ND 5.35 ND 0.37 "
ofleo A 8 HC|HlErR ND 0.86 ND ND "
YEH M ND ND 2.16 ND ”
Gog 1 -
HO|HR ND 1.18 ND ND ”
Al 2w SEIH Ml ND ND 3.76 ND "
2226 -
HC|HIER ND 0.91 ND ND ”
e M ND ND 3.39 ND ”
s227 .
HO|HlR ND 0.64 ND ND ”
ol 4 HCIHErR ND 0.38 ND ND ”
Bk IR o8 HO| R ND 0.99 ND ND "
EX: lwi=E ND 2.14 ND ND ”
=3 HOHEr ND 1.38 ND ND "
231k 2N £7 HCHErR ND 0.99 ND ND ”
M3 HOHER ND 1.92 ND 0.23 "
zc SR | OIAH 2 wi=E ND 1.84 ND ND ”
. 7 HC|HlErR ND 3.43 ND ND "
RS 10 IEEEEEN ND 0.28 ND ND ”
CH=H e 7 e ND 2.09 ND 0.11 "
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AZE5=(ngke)
TEXAY | e | WS R ZH g E v
a3 | #Hojgol | I | FHogo]
ERER! R ND ND 4.82 ND  |EEEZEkof
. 3235 e MR ND ND 2.79 ND
22/0t G
EREN; e MR ND ND 3.91 ND
BRI 6 Qe M2 ND ND 5.48 ND
£5 HOHER ND | 25.22 ND 0.09 ”
=10 HOHEE ND 18.17 ND 0.12 ”
88 sleH =13 HOHEE ND 4.45 ND ND ”
A7 HOHER ND 6.07 ND ND ”
A 14 HOHER ND 5.95 ND ND ”
_ neEarA ND 0.14 ND ND ”
= stA sl =7
HOHEE ND 0.92 ND ND ”
Al 4 HO| R ND 1.12 ND ND ”
Al 13 HO iR ND 1.45 ND ND ”
A8l SRR 25 HOHEE ND 1.14 ND ND ”
212 HOHEE ND 0.70 ND ND ”
217 HO| iR ND 2.93 ND ND ”
8 HOHER ND 2.04 ND ND ”
M= 2oy
9 HOHEE ND 0.24 ND ND ”
ez CHER 5 neEara ND ND 0.97 ND ”
= 2l 0K 7 SUE| A2 ND ND 0.97 ND ”
i HOHEE ND 2.04 ND 0.44 ”
2z2/0} s R
ame | A 3 L) ek ND ND ND 0.18 ”
4 e[ = ND 3.19 ND 0.44 ”
All6 HUER2XI2 ND 0.06 ND 0.01 ”
| HLE2K ND 0.08 ND ND ”
A7
_ i HC| gl ND 0.70 ND ND ”
5o HERI2Y | 31K
HLE2K ND 0.13 ND ND ”
kst Al18
HOHEE ND 0.69 ND ND ”
21 HLE2K2 ND 0.08 ND ND ”
_ L ND 0.53 ND ND p
f23zonzEa| 3 - -
a CHER HLEZX 2 ND ND 0.01 ND ”
- HC| gl ND 0.66 ND 0.42 ”
H (e ND ND ND 0.18 ”
o HER|2Y | BIYA ; HUEZ2XI2 ND 0.05 0.01 ND ”
HOHEE ND 152 ND 0.14 ”
; Z=22EA | 331 ND ND ND ”
HO R ND ND ND 0.15 ”
i 2221/~ | 143 ND ND ND ”
2= SRR 9 ~
HOHEE ND ND ND 0.41 ”
. 2=221EA | 067 ND ND ND ”
HO R ND 1.08 ND 0.18 ”
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AEEE(ngke)

A#| 2249 | ¥¢ | gWs popy 2 g EY M
ad | Hojgo] | 18 | Hojgo]
1 22272 EA 0.59 ND ND ND %—%%%%O—F
HOHZ ND ND ND 0.23 ”
Z= 20| | G=H ——
5 22202 EA 1.33 ND ND ND ”
Lo HICIHE: ND 1.58 ND 0.29 ”
- ] i CIOIORKI= ND ND ND 0.01 y
#Hiz cc | s
9 CHOIOHK] = ND ND ND 0.03 ”
SyEeA | S =6 HO|y2 0.37 ND ND ND ”
_ _ CtOIOtKl= 0.45 ND ND ND ”
NAE 2ox | 39 10 . -
HLIEZX&2 ND 0.09 ND ND ”
o= ~ 10 HICIHE:! ND 0.78 ND ND ”
= Nelwa) SN -
6 HOlyZR ND 3.09 ND ND ”
Neme| S | oIEA 3 HOH2 ND 1.21 ND ND ”
T 4 HO|R ND 0.48 ND ND ”
WS © 8 HO|R ND 0.80 ND ND ”
. _ 1 22272 EA 0.26 ND ND ND )
IH | HOAER | B S
5 22272 EA 0.52 ND ND ND ”
_ 3 HOlHZR ND 0.57 ND ND ”
A=013 GC | SI2H -
7 HO|yR ND ND ND 0.12 ”
&5 SR H =3 22202 EA ND 0.06 ND ND )
op a3 HUE2KI2 0.08 ND ND ND ”
golase | swH =5 HUEZR2 0.05 ND ND ND ”
=9 HLIEZX|&2 0.16 ND ND ND )
bI&2 2227224 ND ND 0.02 ND ”
B 22202 EA ND ND 0.02 ND ”
eI cay
SN HOH2 ND ND ND 0.14 ”
S=HER
h c2i8 22202 A ND ND 0.02 ND )
el X2 22202 EA ND ND 0.02 ND ”
MBS CHESHI 517 HO|R ND 0.92 ND ND ”
e AL SI&H 12 22202 EA 0.05 ND ND ND ”
% ND : not detected(2& =)
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- '——]——- E i- -
(120084 3] ==3 7T HEER
_ AE% = (/ke)
AT | 239 e | EHE %4 Z g E H| 31
g | gode] [2™]| soisle]
sy oy S 10 S EFOY M2l 0.03 ND ND ND FEogol
1 SEHI M el 0.71 ND ND ND "
HUEZXIS | 0.44 ND ND ND ”
) Sl E} Ol M 2 0.59 ND ND ND ”
SR HLUE=Zx2 | 055 ND ND ND ”
SEHHI M el 0.78 ND ND ND ”
gt ot 3 HUE=ZXS |0.79 ND ND ND ”
54 HUEZZXS ND 0.09 ND ND ”
5 SEtHI M el 0.81 ND ND ND "
HUEZR2 |0.17 ND ND ND ”
=R
5 S EFOY M2l 0.94 ND ND ND ”
HUEZXS | 1.69 ND ND ND ”
6 SELO MR 0.25 ND ND ND ”
IS SEY
7 SELO MR 0.29 ND ND ND ”
PN EEL] =5 S EFOY| M2l 1.48 ND ND ND ”
~ 10 HUEZZXS ND 0.01 ND ND ”
ol | gAEm | =M - .
16 HUEZX 2 ND 0.01 ND ND ”
NEEEEEY] 8 HLUEZR 2 ND 0.01 ND ND ”
P s=22TANE ND 0.20 ND ND ”
) ER s==uAye ND 1.46 ND ND ”
202 S - —
EE sZ2nAje ND 0.12 ND ND ”
T A1 sz ND 2.60 ND ND ”
] 8 CHOIOFKl = ND ND 0.42 ND ”
gE20r |32
9 CHOIOFKl = ND ND 0.27 ND ”
) g7 HLUEZZX 2 ND 0.38 ND ND ”
ot2l Xl S - -
ST HLUE=ZZX 2 ND 1.92 ND ND ”
3 e M2l 0.63 ND ND ND ”
=) SN 4 S EFOY| M2l 0.39 ND ND ND ”
18 SEFO| MR 0.77 ND ND ND ”
E= =3 S ELOY M 2 0.11 ND ND ND ”
22 SN LH 1 S EFOY| M2l 0.11 ND ND ND ”
L6 S EFOY| M2l 0.16 ND ND ND ”
o s==uAye ND | 49.89 | ND ND ”
< s=2uAH ND ND 0.21 ND ”
) _ sz2uAyL ND | 2135 | ND ND ”
s25 |32 =17 —
sz2uAyL ND ND 0.19 ND ”
i s==uAye ND | 33.47 | ND ND ”
< s=2uAH ND ND 0.18 ND ”
Ot Eld S EFOY M2l 0.29 ND ND ND ”
Amotde |sgm| orse? e M el 0.00 ND ND ND ”
SNEL SO M 2 0.61 ND ND ND ”
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A &5 =(ng/ks)
=AY (Y | E¥HE 594 Z g E &
ad| s ool |2’ | ool
o= 32K 2 SO A 2 0.06 ND ND ND
o= ] w3 SUEIH AR 0.08 ND ND ND
SAS SR
w14 S| A R 0.13 ND ND ND
CHE Rl =2 s22uAE ND 0.12 ND ND
A0l A0 E |—= —
SR K13 s22uAQE ND 0.07 ND ND
23514 SR =1 HUEZZS ND 0.72 ND ND
ShaH 32K 11 BHCIH= ND 6.13 ND ND
=4 SEIH AR 0.71 ND ND ND
=7 SR AR 0.09 ND ND ND
oo, sl 32K o SR AR 0.52 ND ND ND
< =1 SEHH MBI 0.31 ND ND ND
=4 SEIH AR 0.45 ND ND ND
_ ) =2 SR AR 0.08 ND ND ND
s 32K
=5 SR AR 0.12 ND ND ND
SR CH= I 7 SEIH AR 0.33 ND ND ND
88 32K =8 OO ND 0.95 ND ND
EH SR =3 s22uAHE ND 1.47 ND ND
6 CHOIOF K| &= 5.24 ND ND ND
=3zlor |
32K 7 CHOI OF K| &= 11.01 ND ND ND
HEZ|I2Y
8 CHOI OF K| &= 7.30 ND ND ND
ror CHOIOF Xl &= 0.08 ND ND ND
< Sl 23 222q)2|TA ND 0.08 ND ND
Y% | AEZIZY
HUE2X2 |0.11 ND ND ND
A E2H M ND 0.07 ND ND
saim s CHOIOF Xl &= 0.07 ND ND ND
=
HEZ|IZ2Y ; CHOIOF Xl &= 0.08 ND ND ND
HUEZX 2 ND 0.06 ND ND
1 HUE=ZXI2 |0.12 ND ND ND
H| Et2|
o= oo |amm HIC| O g2 ND 2.74 ND ND
5 EZ20 M2 ND 0.07 ND ND
HCHe ND 1.57 ND ND
1 BHCIH=: ND 1.81 ND ND
_ EzZ Ml ND 0.08 ND ND
= SR ——
2220214 | 0.30 ND ND ND
SEIES L -
HCOHa ND 2.88 ND ND
2220 | UI=H 4 2220)21FA | 0.07 ND ND ND
6 EU2 MR ND 0.06 ND ND
aHHIXl C.C |32 A " Eg2H M |0.16| 0.05 ND ND
HUE2X2 |0.06 ND ND ND
_ _ =1 E2 M2 ND 0.06 ND ND
SYHIESA | B
=7 EZ2 MR ND 0.06 ND ND
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&5 5 (mg/ks)

=AY | g | E¥HE 594 Z g E & =1 1A
ad|Hoige] | 2d | ool
1 HUEZXS |012| ND ND ND 520
mE | MeEwa | s 6 HUEZXS [006] ND ND ND »
5 HUEZXE |006] ND ND ND y
4 ezzgmra |012| 013 | ND ND y
_ J =0 EzzyMa 045 ND ND ND y
2 3|2
= s =5 szzgmsa |045] 011 | ND ND y
=6 Ezzgmsa |016] ND ND ND y
- SzzmRiz~ | 008]| ND ND ND ,
SzzgMse | ND | 007 | ND ND ,
a 22202 EA 0.07 ND ND ND )
THOICLA | sH Ezzm~al | ND | 006 | ND ND ,
T _ Sz=zmiEz~A | 006]| ND ND ND ,
=1 sz Ml NO [ 0.07 ND ND ”
=7 Ezzm~al | ND | 008 | ND ND ,
oL 1 HUE=ZXe |008]| ND ND ND ,
e SE] SzzgMe | ND | 007 | ND ND ,
HUEZXe |017] ND ND ND ,
o i 2 22202 EA 4.79 ND ND ND )
oI=EE ) SIEA 6 szerRiEA |078]  ND ND ND y
asdoa | oo o zzemRizA  [0.08| ND ND ND »
G.C EzzyMe | ND| 006 | ND ND ,
o HUEZx2 |009| ND ND ND ,
Ezzm~al | ND | 008 | ND ND ,
) _ HUE=ZxE |013] ND ND ND ,
sF | HEA =8 Szzmsel | ND | 008 | ND ND ,
- s HUEzxe |012| ND ND ND ,
Ezzm~al | ND | 010 | ND ND ,
oy Ezzm~al | ND | 006 | ND ND ,
oimee | sa =7 HUEzxe |011| ND ND ND ,
_ HUEzx2 |011| ND ND ND ,
=8 EPELRE ND | 0.07 ND ND ”
i SzzgMel | ND | 007 | ND ND ,
sea| CoUAE | sa 5 arit=e NO | 198 | WD ND ?
SzzgMe | ND | 007 | ND ND ,
14 Ezzm~al | ND | 008 | ND ND ,
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A E5 =(ng/ks)

AT | =49 | g | E¥HE o ! Z g E % H] 3L
ad|sHojdo] | 1 | Holg o]
222102 EA 0.17 ND ND ND ZHS-2ok
orolcrAa el | 3l &Ml 17
HCIHES ND 6.62 ND ND ”
CHO|OF Kl = 0.06 ND ND ND "
4
EgdZHMmel ND 0.10 ND ND ”
De|AEIde| | SI&X gHel8 CHOIOF Kl = 0.10 ND ND ND ”
CHOIOF Xl = 0.05 ND ND ND ”
2|9
EgZHMmel ND 0.07 ND ND ”
MEl 3|2 H gHel3 EgZHMmel ND 0.09 ND ND ”
MES ESPN| Ikelg EgZHMmel ND 0.07 ND ND ”
o=
H X1 CHOIOFKl = 0.15 ND ND ND ”
H X3 CIOIOFKI = 0.14 ND ND ND ”
IFEHUAE| SI&H CHO|OF Kl = 2.58 ND ND ND ”
H X6
EstZ2HMel ND 0.06 ND ND ”
H X9 CHOIOFKl = 0.10 ND ND ND ”
He|AES CHOIOF Kl = 4.55 ND ND 0.01 )
He|AE9 CHOIOFKI = 0.15 ND ND ND ”
A | A
CHOIOF Xl = 0.13 ND ND ND ”
%el13
EgZHMmel ND 0.09 ND ND ”
% ND : not detected(22&H =)
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] 20099 A7) 3= 5 AE93
A &% = (ng/kg)
AT | SZAY | e H Ty = E Y H) 1
ECIECEEIECIEELD
Samag | EOd=Za | ND | 0247 | ND ND | EEtwor
- ) samAg | ®OWEa | ND | 0110 | ND ND p
camay | sEH -
o EYSr BOMEZE | ND | 0185 | ND ND p
31 1 BOMEZE | ND | 0168 | ND ND p
P 1 BOM=2 | ND | ND | ND | 0.083 p
7 BOMZ2 | ND | 0139 | ND ND p
- HOMEZ2 | ND | 0869 | ND | 0013 p
sg | U HUERXE  |0522] ND | ND ND ,
9 BOH=2 | ND | 0664 | ND | 0.010 p
| mus oew 7 BOMEZ | ND | 0070 | ND ND »
* Tazna | a=a 8 BIC 02 ND | 0064 | ND ND »
30131 BOMEZ2 | ND | 0065 | ND | 0.010 ,
Mzt | sE | 0133 BOM=2 | ND | 0265 | ND | 0.010 p
"RED BOM= | ND | 0177 | ND | 0.012 p
13 HOUMEZ2 | ND | 0635 | ND ND p
B | s 17 BOm= | ND | 0417 | ND ND p
18 BOMZ2 | ND | 0453 | ND ND p
19 BOM=2 | ND | 0152 | ND ND p
B | oA s BOMEZ2 | ND | 0287 | ND ND p
WEHMMR | ND | 1.220 | ND ND p
WEoI&4 | mOMER | ND | 04171 | ND ND p
WIS | EOMEE | ND | 0432 | ND ND p
de | maEm | ows BOMEZE | ND | 0210 | ND ND p
s2=5 BOUMEZE | ND | 0080 | ND ND p
. SEE QWEHME | ND | ND 0030 ND p
EHOI 118 BOME2 | ND | 0089 | ND ND »
max | BRH | 2029 BOMEZE | ND | 0212 | ND | 0.014 y
201218 BOMEY | ND | 0125 | ND ND »
_ . A1 BOMEZ2 | ND | 0108 | ND ND ,
molzlxE | sleH -
=6 BOMEZ2 | ND | 0064 | ND ND p
Aa | oz 6 BOMZY | ND | 0430 | ND ND »
54 | T 9 BOME2 | ND | 0062 | ND ND »
AoIaEA | s/ | ATOOY | DRIE2EA | ND | ND | 1440|  ND »
REPY BOMEZ2 | ND | 1.082 | ND | 0.063 p
REPST BOM=2 | ND | 0363 | ND ND p
~g T N EEPY BOM=2 | ND | 0571 | ND ND p
2346 BOMEZ2 | ND | 0311 | ND ND ,
EEPST: BOMEZ2 | ND | 0370 | ND | 0.018 ,
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A E5 = (mg/ks)

| EZAW | FH & Zk g E ¥ a1
SCIECECRIFEIECER
2 =2 3|2l SEHH Ml 0.130 ND ND ND e
== | AJtoleel | sl HCIOE: ND 1.055 ND ND "
A | ZZMAOIS | SIEH HCOE ND 0.070 ND ND "
w3220t i HUEZX2 ND ND ND 0.015 "
HECISY CHOIOFXl = 0.073 ND ND ND ”
CtOIO K= ND 0.221 ND ND "
HLEZX 2 ND 0.069 ND ND "
St 3|2l CtOIOFXl = ND 0.237 ND ND "
Sot HLEZX 2 ND 0.051 ND ND "
HLEZX2 ND 0.051 ND ND "
ES2EANE ND 0.173 ND ND "
oo W= HLEZX 2 ND ND 0.016 ND "
SEERTEAME ND 0.090 ND ND "
HLEZX 2 ND 0.057 ND ND "
1.2.3 UHSH 4 CIOIOFRI = ND 0.281 ND ND "
7 CtOI ORI = ND 0.375 ND ND ”
2&=C.C 32 M 8 CtOIOFXl = ND 0.395 ND ND "
9 CtOI ORI = ND 0.378 ND ND "
2= S 3 CtOIOXl = ND 0.301 ND ND "
10 CtOI ORI = ND 0.280 ND ND "
22010 = 5 CtOIOFXl = ND 0.179 ND ND ”
6 CtOIOFXl = ND 0.288 ND ND "
2 CtOI ORI = ND 0.297 ND ND "
il=1PN IR CtOIOFXl = ND 0.341 ND ND "
HLEZX =2 ND 0.054 ND ND "
CIOIOFRI = 0.308 ND ND ND "
SEHIdEA| 2A2H CHOIOFXl = 0.272| 0.231 ND ND ”
CIOIOFRI = 0.341| 0.326 ND ND "
CHOIOFXl = 0.919| 0.072 ND ND ”
HLIE=ZXE ]0.100 ND ND ND "
CHOIOFXl = 0.580| 0.117 ND ND ”
S22 EA 0.116 ND ND ND "
== NME 32| - -
HLEZX 2 0.108 ND ND ND "
CHOIOFXl = ND 0.093 ND ND ”
S=2=MeIZA 10.134 ND ND ND ”
HLEZX 2 0.301 ND ND ND "
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&5 E(mg/kg)

=ZXY | Y | EHIS 5 Z+ o E < B 31
ad | sl | a2™ | sojsde]
CHO|OF K| &= 0.660 ND ND ND FESEFS
2 2=2=qj2|ZA |0.093 ND ND ND "
HUE=ZX2 [0.133| 3.523 ND ND ”
CHO|OF K| &= 0.988 ND ND ND "
Meige] | 3R 4 2=2=2q2|ZA | 0.053 ND ND ND ”
HUE=ZX2 [0.099| 0.050 ND ND "
CHOIOHKl = 0.292| 0.066 ND ND ”
8 22=0RIEA |0.086 ND ND ND "
oz
HUE=ZXI2 [0.145| 0.786 ND ND ”
y CHO|OFK| &= 1.175| 0.069 ND ND "
HLUE=ZZX 2 ND 0.072 ND ND ”
EEECE]
= e CHO|OF K| &= 1.304 ND ND ND ”
=)
8 2=2=q2|ZA 0.134 ND ND ND "
HUE=2X2 ]0.068 ND ND ND ”
- 1 CHO| O K| &= 1.612 ND ND ND "
HOlHES! | HHEH
4 CHOI O Kl &= 1.508 ND ND ND "
o323 | W=EH H 013 CHO|OFK| &= ND 0.068 ND ND "
o3 CHOIOHKl = ND 0.319 ND ND ”
10 CHOIOHKI = ND 0.444 ND ND "
2t 2 312 A
16 CHO|OFKl = ND 0.298 ND ND ”
217 CHOIOHKI = ND 0.237 ND ND ”
=6 CHOIOHKl = 0.298 ND ND ND ”
THOIELIA | BIRA =5 CHO|OFK| &= 0.164 ND ND ND "
M7 CHOIOHKl &= 0.222 ND ND ND ”
OFELIA 5 CHOI O Kl &= 0.308 ND ND ND »
~ e
U= 7 CIOIOK| = 0.328 ND ND ND ”
4 E22TANE  |0.389 ND ND ND ”
a=yo013 | _ —
GC 312 A 8 szzuAjE [2.504 ND ND ND ”
’ 18 E22TAHE  |0.737 ND ND ND ”
A=y o013 CHO| OF Kl &= ND 0.348 ND ND ”
_ | UEH 5 —
G.C U= E22TANE  |3.628 ND ND ND ”
A9 CHO|OFK| &= ND 0.252 ND ND ”
Lz A S A
L8 CHO|OFKl &= ND 0.200 ND ND ”
=1 CHO| OF Kl &= 0.249 ND ND ND ”
g | doaks | A =2 CHO|OFK| &= 0.283 ND ND ND ”
=¥ CHO|OFK| &= 0.297 ND ND ND "
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%5 = (mg/ks)

A | S | ] | EW¥HE Ty Z+ o E & H] 1L
ERIESOEEEIESED
SE® | TOIUAEl | 3ILH 15 CHOIOF Kl &= 0.459 ND ND ND TRE2eok
grolckAa | _ o
w2 3|2l 18 CHOIOF Kl &= 0.303 ND ND ND "
HUE=ZX 2 ND 2.611 ND ND "
Z2/3
CHOIOF K| &= 0.259 ND ND ND ”
T2 AEl
) 3|2 | HUE=ZX 2 ND 0.355 ND ND ”
g 2| _
Z2l4
CHOIOF K| &= 0.300 ND ND ND ”
o3 HUE=ZX 2 ND 0.128 ND ND ”
M al 3|2 | M7 CHOIOFKI &= ND 0.056 ND ND ”
MBS | TIEA mjol2 CHOIOF Kl &= 0.279 ND ND ND ”
. mHol CHOIOFKI &= 0.112 ND ND ND ”
i mtels CHOIOFKI &= 0.216 ND ND ND ”
= 3l 2Rl
HIHAE _
ntele CHOIOFKI &= 0.122 ND ND ND "
mtelg CHOIOFKI &= 0.135 ND ND ND "
CHOIOF Kl &= 0.165 ND ND ND "
Je2|AEH
HLUE=ZX2 [0.213 ND ND ND ”
Qo e CHOIOF K| &= 0.152 ND ND ND ”
HH;E sled | 32lage
= HUE=ZX2 |0.120 ND ND ND ”
CHOIOF K| &= 0.165 ND ND ND ”
ERESST
HLIEZX2 [0.365 ND ND ND ”
LAE 3 CHOIOF K| &= 0.193 ND ND ND ”
b =
A& . NP
7 CHOIOF K| &= 0.074 ND ND ND ”
% ND : not detected(2& =)
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[ 20099 3pub] =% ZF-st A=93

HE S T (mg/kg)
A2 | SZ2&83Y S EHS sS4y & e &
18! | HO{ ol [ 8 | HO SOl
e AYD2(H1|2H 2 2 S2Z20elZA | 1.467 ND ND ND
U
-7 |sEdniag)| = — —
It S2ZE0elZA [1.604 ND ND ND
12 CHOI Ot Kl = ND ND 0.015 ND
BIE 2|0t 3|2 —
It CtOIOFRl &= ND ND 0.159 ND
=& S A o958 EtH A 2 0.083 ND ND ND
A0/0tdel | 2 &A L3= SHEtH M & 0.053 ND ND ND
NES AJ0I3E HCHE= ND 1.922 ND ND
=
AJ0I5E Z2220elZA [0.493 ND ND ND
HCOHE= ND 1.114 ND ND
AJtolel | A B
AJIONE ESZTANE ND 3.206 ND ND
SZ20elZA [0.405 ND ND ND
AJL0I9E2 SZ20elZA [0.640 ND ND ND
Wig HLEZX& 0.512 ND ND ND
W3& HUEZX= 0.624 1.873 ND ND
OFAl OFLE 32 W6e= HUEZI2 1.000| 2.113 ND ND
E2E HUEZX= ND 1.153 ND ND
E142 HLUEZI2 0.659| 2.297 ND ND
giolsits HCOIO: ND 3.064 ND ND
&R 32 —
o3z HCON ND 4.631 ND ND
=432 HUE=ZX& 3.836 ND ND ND
S18 HUEZI2 3.838| 3.063 ND ND
sHa 3 & —
=38 HUEZX& 7.302 ND ND ND
3= HLIEZX2 7.898 1.166 ND ND
=0l _
AR CH= Al 58 HCOKNE= ND 3.888 ND ND
Kl & 3 & =58 HCO N ND 8.968 ND ND
IyeEc 3H HCIHE= ND 3.909 ND ND
HSH
2 5H HCIHER ND 2.411 ND ND
12 =2ZZAMHE ND 12.750 ND ND
BN 3 & 9 ESZTANE ND 5.947 ND ND
188 SE2ZZAHE ND 15.241 ND ND
dlOI2A0IE| 33 MN142 HCONE= ND 1.926 ND ND
dI0IZAOIES| CHEHM | SO0t25& ESZTANE ND 0.652 ND ND
_ ) EtOI 17 BIC|O el ND 0.420 ND ND
EERIDN 3|2 A -
ctol217 HCOME ND 0.234 ND ND
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&= (mg/kg)

SN EEH EHS S4*H & O E
el |HOoSo | Od8! | Ho0]
o JAETO | BHEX £2237AME |0400| ND ND ND Ss2s
- TNEEER G BICIHER ND | 0538 | ND ND "
e
514 ALY R ND 1.700 | ND ND "
RE
mlES gl SR 182 HC|IHER ND | 0.873 | ND ND "
Lo |FEBR00|2HES 4= £22ZAME | ND | 0.325 | ND ND "
T | Mooy | 8= s=zzzAge ND 0.529 ND ND "
0= ol £ O M 2 0.104 | ND ND ND "
2z | HaA | B 9= S EFOY| M2l 0.104 | ND ND ND "
15& S EFOY| M2l 0.083 | ND ND ND "
U8s ol £ O M 2 0.213| ND ND ND "
MArm=pml Ues S EF Ol M 2 0.212| ND ND ND "
OF At S —
Et =62 ol £ 0| M 2 0.188| ND ND ND "
=82 S EFOY| M 2 0.226 | ND ND ND "
=32/0
SEpi 18 szznApg ND | 3.619 | ND ND "
|%E’,—i
2 EEP) HUEZX S ND | 0.093 | ND ND ”
BHor 52| — -
HLUEZX S ND | 0.138 | ND ND "
22202/ZA | 0.075| ND ND ND "
. HLEZX S ND | 0.262 ND ND "
g=c.C. | sEn — -
HLEZX S ND | 0.336 ND ND "
HLEZX S ND | 0.126 ND ND "
22202/ZA | 0.057| ND ND ND "
2= 52| 2=2=272ZA | 0.087 | 0.338 | ND ND "
2227 2/ZA | 0.062| ND ND ND "
Z22t0| = 222702 ZA | ND | 0.074 | ND ND "
2227 2/ZA | 0.063| ND ND ND "
3 HI X 312K 22202/ZA | 0.184| ND ND ND "
22202/ZA | 0977 ND ND ND "
CHO| OF K| = 0.356 | ND ND ND "
22272|ZA | 0.631 ND ND ND "
NN SEpi HUEZXS | 0.141 ND ND ND "
6 CHOIOF K| &= 0.370 | ND ND ND "
9 CHO| OF K| = 0.207 | ND ND ND "
~ ] 5 CHOIOF K| &= 0.339 | ND ND ND "
o | Mwe | 32w
9 CHOIOFR] = 0.067 | ND ND ND "
1 CHOIOFR] = 1200 ND ND ND "
REEE I ES WE CHOIOF Xl = 0.994 | ND ND ND "
22202/ZA | 0.149| ND ND ND "
CHOIOFR] = 0.095 | ND ND ND "
RMolHE2 | =R - -
HLEZX S ND | 0.161 ND ND "
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&= (mg/kg)

SN EEH EHS SA4H & O E
el |HOoSo | Od8! | Ho0]
CHOIOF K| = ND | 0.066 ND ND =
3
WO AEIR | CHEH 22=202/1ZA | 0.229 ND ND ND "
6 222021ZA | 0.209 ND ND ND "
HLUEZXS ND | 0.083 ND ND "
a=syo03 | _ 9
G SR CHOIOF K| &= 0.057 ND ND ND "
15 HUEZXS ND | 0.110 ND ND "
ZaA 312K =2 CHOIOF Xl = ND | 0.122 ND ND "
M1 CHOIOFK| &= ND | 0.062 ND ND "
&= 52 A A2 CHOIOF Xl = ND | 0.097 ND ND "
A3 CHOIOF Xl = ND | 0.156 ND ND "
CHOIOF K| &= 0.258 | 2.038 ND 0.027 "
L9
HLUEZXS ND | 0.349 ND ND "
STES CHOIOF Xl = 0.229 | 2.208 ND 0.019 "
=7
HLUEZXS ND | 0.237 ND ND "
glojlagc | sl
CHOIOF K| &= 0.215 | 1.843 ND 0.011 "
=6
HUE=ZxS ND | 0.566 ND ND "
CHOIOF Xl = 0.202 | 1.915 ND 0.014 "
=8
HLUEZXS ND | 0.267 ND ND "
1 CHOIOF K| = 0.702 ND ND ND "
SSH | CHOIHAEl | 3IA 13 CHOIOFR| &= 0.560 ND ND ND "
18 CHOIOF Xl = 0.734| ND ND ND "
TEIp) HLUEZXS ND | 0.062 ND ND "
otoICHA &2 | 3l
2|3 HLUEZXS ND | 0.133 ND ND "
NEHUAE| &R B XI5 HUE=ZX S ND | 0.057 ND ND "
elasw|| 52 |7 2=2=202/ZA | 0.052 ND ND ND "
3 CHOIOF Xl = 0.066 ND ND ND "
H |oAEzED| UEA
6 CHOIOF Xl = 0.054 | ND ND ND "

¥ ND : not detected(2& =)
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=75y = =313
(1 20109 Auby] =4 A5 7533
&= (mg/keg)
A.Z2 ST&Y SEH EYS S¢Y & EX Hl 2
el |HIofHol | Ol | HIoIOo|
R Sl Ef O A2 0.097 ND ND ND | E2SEs
e U5E ol e O M2 0.055 ND ND ND "
oAl [(RIYAZ=A| 52X
En =42 S Ml 0.069 ND ND ND "
£72 Sl Ef O A2 0.246 ND ND ND "
Ay UM 5|2 16 HC|OEel ND 1208 | ND | 0.223 ”
LS 6 HCIHE e ND 4.390 ND 0.280 "
HI &
g 8 HC|OE e ND 2002 | ND | 0.173 ”
=1 HUEZX 2 ND 1.904 | ND ND "
ola HIOIOIHI AEH| IR A1 HUE2% 2 ND | 0.995 | ND ND "
A2 HUEZX2 ND 1.692 | ND ND "
ol 32 s ND 1.032 | ND ND "
=h sl2AM | @035 HIC| O el ND | 0.600 | ND ND "
ot=2El? HOHE ND | 0.699 | ND ND "
p) HC|OIE el ND | 4.645 | ND ND "
=) 5|2 A 4 sl ER ND | 6.887 | ND | 0.079 ”
18 HIC| Ol £ 2 ND 1.102 | ND ND "
M1 HIC| o2l ND | 6.488 | ND ND "
Lo = A A8 HIC| O el ND | 14.775 | ND ND "
A9 HOHE ND | 14.610 | ND | 0.136 "
S sZ2FAHE | ND 1.010 | ND | 0.105 "
N3
HO g e ND | 3.781 ND | 0.209 "
22512 | 3R
EZ2TAHE | ND | 0.931 ND | 0.109 "
M9
HIC| O 2 ND | 3336 | ND | 0.312 "
9 HC|OIE el ND | 5.318 | ND ND "
CES =Sy 13 HC|O e ND | 3.070 | ND ND "
18 sG] ND | 11.998 | ND ND "
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2 E =T (mg/ke)

=Ty S EY EHsS S¢*H & EY Hl 2
el |HoKo0l | O | HoKol
ol RER ND 2.083 | ND ND 2s=
= 2z A | 1.021 ND ND ND "
HOHZR ND 1911 | ND ND !
W3 ——
i =z=m2/ZA | 0.908 ND ND ND "
AJtolgel | 3I2A .
ol HOHE ND 9.296 | ND ND !
= 2=zamezA | 0.842 ND ND ND "
sols HCIHE R ND | 10.316 | ND ND !
= 2zanazA | 1.232 ND ND ND "
2 IO e ND 0548 | ND | 0.127 "
Adtoleel | BEA -
6 HICI 2 ND 2062 | ND | 0.124 !
0l 0l A9 HICI KR ND 1581 | ND ND "
) ool A2 HOIHE ND | 10.010 | ND ND "
o= SRM
HRIN 1 HCOIHE ND 3.784 | ND ND "
H2I%9 HICI KR ND 4.875 | ND ND "
I BEL| 8 HIC| O 2 ND 1.417 | ND ND "
AT AT HIC| O 22 ND | 12.096 | ND ND !
HICIHE R ND | 32.824 | ND ND "
ABAQ
222722~ | ND 1.264 | ND ND "
22 S|20R | RAAS HIC| O 22 ND | 23220 | ND | 1.614 "
2210 HIC| O 22 ND | 13.601 | ND ND "
HCIHE R ND ND ND | 1.584 "
232
ol £} O] M 2 0.067 ND ND | 1.584 !
] Golels HOIHZe ND 2214 | ND ND "
Al 512 A
z2=g ol £} M 2 0.051 ND ND ND !
) i In4 HCIHZ ND 0.824 | ND ND !
Bt at 512 A -
outs HIC|H e ND 1.840 | ND ND !
NaAd HCOIHE ND 4.945 | ND ND "
&S lyoanos | s HCIHER ND 3.699 | ND ND "
EPST;
o EfOj| M 2 ND 0.056 | ND ND "
=3A4 HOIHE ND 5.122 | ND ND "
HOHER ND 4.389 | ND ND "
=346
diEtg Ml D . D D "
A0IAAO0IS | L= o N 0.066 | N N
=3aAg HCOIHE ND 3.217 | ND ND "
LA sER ND 7.203 | ND ND "
YD AG HCOIHE ND 9.735 | ND ND "
1 HICIHE R ND 4.364 | ND ND "
S3pal 512 A ° HIC| O 2 2 ND 0.442 | ND ND !
3 HOHER ND 1543 | ND ND "
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== (mg/kg)

(HEH) EHS S &C e HId
18l [HIoHOol | 18l | HOi 0l
A3 B o ND 0.851 ND ND ==
IR &8 HCIOER ND 1.758 ND ND "
=4 HCOHE ND 0.465 ND ND "
2 BIC|IHE e ND 2.205 ND ND "
32 5 HCIOIER ND 2.183 ND ND "
6 HCIOIER ND 1.555 ND ND "
22 BIC|H g ND 1.923 ND ND "
CH=Hl -
24 BHCHE ND 1.075 ND ND "
) =4 HCIHER ND 1.818 ND ND "
209l IR -
=6 HCIHER ND 1.018 ND ND "
4 BICIH g ND 5.282 ND ND "
CH=H -
6 BICIH g ND 4.030 ND ND "
EFOIH5 HCIHER ND ND ND 0.158 "
IR EFOIH10 HCIOER ND 1.810 ND ND "
2t01 29 HCIO e ND 0.895 ND ND "
Sy A9 SEIHI M2 ND 0.052 ND ND "
N16 SUELDI M2l ND 0.056 ND ND "
IR e SUELDI M2 0.162 ND ND ND "
8 HCIOIER ND ND ND 0.099 "
IR 10 BIC|H & ND 0.722 ND ND "
12 HCH e ND 1.781 ND 0.122 "
= H 3 BIC|IH g2 ND ND ND 0.152 "
ey g2|9 HCIOER ND 1.237 ND ND "
e 4 HCIO & ND ND ND 0.210 "
2xE IR 3= SELDI M2l 0.051 ND ND ND "
=& S 58 HEHH A e 0.127 ND ND ND "
IR 18 HCH g ND 0.074 ND ND "
HUEZX 2 0.072 ND ND ND "
2RAT
HICIOER ND 0.292 ND ND "
) ) HUEZX 2 0.081 ND ND ND "
Shet 32l RIA18
Y HCOOE= ND 0.195 ND ND "
AlDAY HUEZX S 0.064 ND ND ND "
ADAZ HUEZZXI2 0.063 ND ND ND "
= H 3 HCIOER ND 0.328 ND ND "
RS 5 HCIHER ND 0.051 ND ND "
22202ZA | 0.206 ND ND ND "
7 HLUEZX S ND 0.045 ND ND "
2 2Kl HCIHgR ND 0.126 ND ND "
8 22202ZA | 0.025 ND ND ND
12 22202ZA | 0.052 ND ND ND
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2 E =T (mg/ke)

A2 | Z2ZRY | (HH) | =285 ok E E9 Hl 2
2 |[HOKol| O | Hoiol
=1 HCHES ND 0.935 ND ND E=SEs
HeFE | HIEEA | S
=6 HCIHES ND 0.212 ND ND "
13 CHOIOIKl = 0.053 ND ND ND l
MNAZ2 S HCIHES ND 3.413 ND ND "
15
EESZTANE ND 0.169 ND ND l
CtOl| Ot Kl = ND 0.061 ND ND I
11
HCIHES ND 2.205 ND ND "
NI e S CtO| Ot Kl = ND 0.025 ND ND l
12
HCIHES ND 1.022 ND ND "
13 HCO NS ND 2.492 ND ND I
HCIHES ND 3.693 ND ND "
2
== EESZLTANE ND 0.020 ND ND "
NI ESN HLEZX& ND 0.053 ND ND l
3 22272l EA 0.114 ND ND ND "
EESZLTAMNE ND 0.026 ND ND l
3 HLEZX& 0.056 ND ND ND l
HOIH=! HEPN HLEZXI2 1.802 ND ND ND "
6
22272 A 0.539 ND ND ND "
1 HLEZX& 0.078 ND ND ND l
HAEYZ| HEPN HL EZX& 0.322 ND ND ND l
3
22272 A 0.053 ND ND ND "
=S S S ISR HLEZXI2 ND 0.058 ND ND "
EEES- HCIO e ND 0.054 | ND ND "
oty | JelAede | 2
el AE HCIHE:S ND 0.055 ND ND "
% ND : not detected(22&H =)
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552} rokAlE =213
[ 20084 A7) S=4 FeA373% A3
AEEE(mg'kg)
A | =AY | gd | EH3T oy Z Y E H| 1
a8 | Hojgoe] | I" | Hojgo]
7 HICIHE: ND 9.52 ND 0.12 T =550
14 HIC|HE ND 23.66 ND 0.31 ”
A =SS S| HLEZX& ND 12.78 ND ND ”
18 IeEsEA ND 0.10 ND ND ”
BICIH 22 ND | 1231 | ND 0.11 P
2 ES22LANE ND 5.65 ND 0.86 )
Al FEST ooy s=zmAle | N 2 N 43
=& =5 SEZEIANE D 5.25 D 1. ”
(107H|24Eh 3
dIEHHME ND ND ND 1.71 ”
o Jaaa | s i1 e ND ND 3.42 ND p
4 BICI ND 3.34 ND 0.12 ”
am | AmMAOIS | BH 9 BICIHZE ND 5.33 ND 0.05 P
18 HIC|HE ND 3.11 ND ND ”
goia 7 HLUEZX& 0.31 0.26 ND ND ”
S e} SIEH Ol=2€E 4 HUEZX2 0.48 1.44 ND ND ”
OKR2El 5 HLUEZX& 1.39 0.16 ND ND ”
1 HUEZXI2 0.12 0.11 ND ND ”
HIATH o
5 HLUEZX& 0.15 ND ND ND ”
o1 ETFON R ND 3.60 ND ND P
SEITA g HCIHE ND 6.51 ND ND ”
sign | s2DAg L ND 6.26 ND ND P
ey =3/ 3 BCE ND | 10.16 | ND ND P
s=2 R ND 8.87 ND ND P
1 HICIHE: ND 8.42 ND ND ”
Ve -
9 HCIHE: ND 7.97 ND ND ”
EEER ACHE ND | 1229 | ND ND P
sign | moelg BCHE ND 3.20 ND 0.16 P
SR 32|13 9 HCIHE: ND 13.28 ND ND ”
e 8 HICIHE:! ND 0.30 ND 0.37 ”
=R -
2] 9 B ND .82 ND ND ”
ok Jei =R 3 BICIHZE ND 0.36 ND ND ”
] 10 ACE ND 0.30 ND ND P
plot si2i -
T ACHE ND 0.99 ND 0.11 P
1 HICIHE: ND 2.56 ND ND ”
o 12 9 e ND 1.93 ND ND P
17 ACHE ND 4.09 ND ND P
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AE5 = (mg/kg)
T | FE | EHE i z g EY Hl 3
Jd | #Hojdel | J¥ | Ho4e]
ES2TANE ND 0.44 ND ND ZESE 5ok
M1 SEHHIM & 2.58 ND 4.89 ND "
HCIHER ND 9.38 ND ND ”
SIEIHIME 3.20 ND ND ND "
120 N2 HCIHES ND 3.81 ND 0.18 "
SE2ENE ND 0.31 ND ND ”
OFAHILIAE =3 %EHHI&El 6.50 ND ND ND ”
ot (M2 HCIHES ND 2.98 ND 0.17 "
o SEHDI A 2.25 ND ND ND n
=4 e ND 1.78 ND 0.29 ”
HCIHER 6.30 ND ND ND ”
=1 SIEIHIME ND 0.17 ND ND "
U=H IeE2eEA ND 3.41 ND 0.23 "
=5 HCIHER ND 0.05 ND ND ”
IeE2EA ND 1.84 ND 0.18 "
g SIRA A1 HCIHES ND 0.24 ND ND "
el 7 HCIHES ND 0.60 ND 0.26 ”
w?l 8 HCIHER ND 0.24 ND ND ”
IeE2EA ND 4.78 ND 0.12 "
cldiiet S 8ol 9 HCIHES ND 1.32 ND ND ”
Mel 9 HClogR! ND 2.73 ND ND ”
HCIHER ND 0.04 ND ND ”
40132 9 = —
IeE2EA ND 2.12 ND 0.18 "
e 13 HCIHEH ND ND 4.15 ND "
= ely = 14 SEHIME ND ND 1.20 ND ”
WE] 6 SEtHIME ND 4.76 ND ND "
we 10 HCIHER ND 0.10 ND ND ”
IeE2EA ND 12.98 ND 0.13 "
EE HCIHES ND 16.27 ND 0.12 "
Had 52 | 280
HCIHES ND 0.55 ND ND ”
BS 12 E==TME ND 0.17 ND ND ”
IeE2EA ND ND ND 0.12 "
4 HCIHER ND 0.27 ND ND "
citl= WE] EE=ME ND 0.19 ND ND "
> SEHHIM & ND ND ND 0.32 ”
SIEHHIM 9.44 ND ND ND
SAHH =2 ! CtOIOHK= ND ND 0.01 ND "
8 EHME 8.47 ND ND ND ”
a5 HCIHER ND 0.51 ND ND ”
&= =y S &5 HCIHES ND 0.29 ND 0.14 "
=9 HCIHER ND 0.563 ND 0.15 ”
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AEES(ngke)
Al X34 | g8 | WS T4 Zt g E¥ H| 1
a8 | Hojgol | T | ool
2 HCOHE: ND 3.24 ND 0.20 ZESEFC
Jelgl SIRH 11 HCIHER ND 6.54 ND ND ”
18 HCIHER ND 8.25 ND ND ”
CIOIOHKl= 0.04 ND 0.08 ND ”
5
HUEZXI2 3.92 ND 0.07 ND ”
BlEe|0} SI3H
CHOIOHK&= 0.06 ND 0.07 ND ”
7
HUEZXI2 6.99 ND 0.27 ND ”
pine 1 HUEZXI2 0.33 ND ND ND ”
HUEZXI2 0.38 ND ND ND ”
pine 6
HCOHE: ND 418 ND ND ”
HUEZXI2 0.35 ND ND ND ”
_ maple 2 -
22 SI3H HCIHE ND 18.28 ND ND ”
HUEZXI2 0.46 ND ND ND ”
persimmon 6
122 xEA ND 0.20 ND ND ”
HLUIEZXI2 0.08 ND ND ND ”
cherry 8
IeE2eEA ND 0.06 ND ND ”
1 HCOHE: ND 1.41 ND ND ”
e A= SIRA 5 HCIHER ND 0.29 ND ND ”
9 HOHE: ND 1.62 ND ND ”
! EZZEANE ND 0.85 ND ND ”
N6
HCIHES ND 8.69 ND 0.16 ”
S0l SI3H
! EZZEANE ND 0.21 ND ND ”
N 8
HCIHES ND 11.23 ND 0.23 ”
) CE 6 SIEIHIME ND ND 1.45 ND ”
o= SIRA
ca 7 SiEIHAM el ND ND 2.98 ND ”
N 5 SIEIHME ND ND 217 ND ”
Alet SIRA ' SIEIHIME ND ND 1.60 ND ”
M6
HLUEZXI2 0.18 ND ND ND ”
=1 HCIHE= ND 11.70 ND ND ”
=IGES SI3H . HCHE: ND 6.80 ND ND ”
° HOHZ ND | 12.21 ND 0.12 ”
S HCOHE ND 3.36 ND ND ”
AI10| 2| SI3H S3 HOHE: ND 1.83 ND ND ”
L9 HCIHER ND 10.37 ND ND ”
dALE SI3H L9 E2Z2TANE ND 0.32 ND ND ”
A BEN VA CtOIOHKl= ND 0.37 ND ND ”
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HEEE(ng/ke)

FzAY | Py | A3 i Z 4 E Y
a3 | gojgdo] | I8 | Holgo]
EI0I 6 BICHER! ND | 4.00 ND ND  |ERSE:of
210101 14 BIC| Y= ND | 0.43 ND ND
oo} sigm | ool 7 BIC| Y= ND | 2.86 ND ND
2t0/9t 9 BIC /R ND | 0.68 ND ND
EI0IH 3 BIC /R ND | 051 ND ND
< 1 BIC {2 ND | 1055 | ND ND
TORIZE | sl <6 HIC HE ND | 11.84 | ND ND
7 BIC| R ND | 1348 | ND ND
HUE2X2 | 019| ND ND ND
S 4 mRi22EA | ND | 0.21 ND ND
BCIHE ND | 3.94 ND 0.42
HUE2X2 | 027| ND ND ND
A 6 m22EA | ND | 012 ND ND
BIC Y ND | 3.44 ND 0.07
HUERX2 | 025| ND ND ND
OMAOILE | IR =7 m=22EA | ND | 018 ND ND
BIC R ND | 417 ND 0.10
HUERX2 | 026| ND ND ND
< 14 meiZ2EA | ND | 0.02 ND ND
BIC R ND | 3.43 ND ND
HUE2X2 | 040| ND ND ND
g2l =18 m=22EA | ND 0.06 ND ND
BCIHE ND | 2.66 ND 0.11
BIC R ND | 2.03 ND ND
T CHS R -
BIC R ND | 5.35 ND 0.37
oo 8 BIC HE ND | 0.86 ND ND
eI ND ND 216 ND
GO 1 :
BICHER! ND 1.18 ND ND
e si2i Qe ND ND 3.76 ND
z22 6 :
BC| Y ND | 0.91 ND ND
eI ND ND 3.39 ND
2227 :
BIC R ND | 0.64 ND ND
ol 4 BIC IR ND | 0.38 ND ND
SHr 12 o8 BIC {2 ND | 0.99 ND ND
oz 8 HIC Y2 ND | 2.14 ND ND
£3 BIC| R ND 1.38 ND ND
o514t sl =7 BIC IR ND | 0.99 ND ND
N3 BIC|HE ND 1.92 ND 0.23
ac SR | OIAE 2 BIC R ND 1.84 ND ND
e 7 HIC {2 ND | 3.43 ND ND
A013A0IS 10 IeiZ2EA | ND | 0.28 ND ND
Ve o7 BIC YR ND | 2.09 ND 0.11
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&8 S(mg/kg)
AW FH | ER¥S T4 g EY ] A
a3 | gojgdo] | Id | #Hojgol
3el3 4 EHHIM e ND ND 4.82 ND ZER=2%0k
) J2135 SEIH ME ND ND 2.79 ND
220t S| 2
F237 SEIH ME ND ND 3.91 ND
2Tl 6 2EHHIM e ND ND 5.48 ND
S5 HCIHE:R ND 25.22 ND 0.09 "
=10 HIC|HER ND 18.17 ND 0.12 "
88 S| = 13 HICIHIE e ND 4.45 ND ND "
N7 HICIHE:R ND 6.07 ND ND "
N 14 HCNE ND 5.95 ND ND "
_ ) =S ND 0.14 ND ND "
20| St S| s7
< HCIHE ND 0.92 ND ND ”
A4 HICIHE: ND 1.12 ND ND "
A13 HICIHE: ND 1.45 ND ND "
=& S| =5 HICIHE e ND 1.14 ND ND "
212 HCHER ND 0.70 ND ND "
17 HICIHE: ND 2.93 ND ND "
8 HICIHE ! ND 2.24 ND ND "
S0 =20
9 HOHER ND 0.24 ND ND "
ez HER 5 meiEeEAs ND ND 0.97 ND "
= SIJA =7 2EtHIM el ND ND 0.97 ND "
1 HOHER ND 2.04 ND 0.44 "
=32|0} ) -
3| &H 3 HOKE: ND ND ND 0.18 ”
Ei2Y
4 HOHER ND 3.19 ND 0.44 "
Al16 HILIEZXI2 ND 0.06 ND 0.01 ”
N HLEZXI2 ND 0.08 ND ND ”
A7
_ _ HOKE: ND 0.70 ND ND ”
St HECIZE | 3I2A
HLEZXI2 ND 0.13 ND ND "
0 A8
HOKEe ND 0.69 ND ND "
=) HLEZXI2 ND 0.08 ND ND ”
_ HCIHE: ND 0.53 ND ND ”
12320022 | 3 . _
o BEI] HLIEZXI2 ND ND 0.01 ND "
- HC|eR! ND 0.66 ND 0.42 ”
HCIHE: ND ND ND 0.18 ”
s211 HER2Y | 3N . HLIEZXI2 ND 0.05 0.01 ND "
HOKEe ND 1.52 ND 0.14 "
6 EEEhIEEN 3.31 ND ND ND "
HCIHE: ND ND ND 0.15 "
) EEENIEEN 1.43 ND ND ND "
=y 2= |2 9 -
HC|He ND ND ND 0.41 "
- EEEhIEEN 0.67 ND ND ND "
HOHER ND 1.08 ND 0.18 ”
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71513‘3’:‘ o_‘::-(mykg)
AN | 2zAY ¥y | 3ds oy ke EY o3
a8 | Fojdle] | 18 | Ho¢o
222[q2|ZA 0.59 ND ND ND FETEEY
1
HICIH R ND ND ND 0.23 "
Z= 210 WE]
22272|ZA 1.33 ND ND ND "
2
Liops HIC| KR ND 1.58 ND 0.29 "
1 CHOIOFR] = ND ND ND 0.01 "
SHIXI CC | B
9 CHOIOFR] = ND ND ND 0.03 "
SEHIHEA | BI2R =6 HIC| KR 0.37 ND ND ND "
CHOIOFRI = 0.45 ND ND ND "
NN 2R | 32AH 10
HLEZXS ND 0.09 ND ND "
o= 10 HICIHER ND 0.78 ND ND "
PSEECEN SI12R
16 HICIHER ND 3.09 ND ND "
N2 0= | U 3 HICIHER ND 1.21 ND ND "
o OIELA 4 HOHE ND 0.48 ND ND "
~ WE]
s 8 HC|H R ND 0.80 ND ND "
1 22202IZA | 0.26 ND ND ND "
=H HIOIAEIR | SR
5 22202IEA | 0.52 ND ND ND "
3 HIC| KR ND 0.57 ND ND "
A=Y 0|2 GC | BI2A
7 HICIH R ND ND ND 0.12 "
a= 3|2 =3 222754 ND 0.06 ND ND "
w3 HLEZXS 0.08 ND ND ND "
OI:_D'C_
[T =6 HUERZXI2 0.05 ND ND ND "
=9 HLEZXS 0.16 ND ND ND "
HI &2 2=227q/5A ND ND 0.02 ND "
22272|FA ND ND 0.02 ND "
2=ZE | =87 n
- SI2R| HIC| KR ND ND ND 0.14 "
pic caig 222754 ND ND 0.02 ND "
BRIT|2 222725 A ND ND 0.02 ND "
MBI WE] a7 HICIH2R ND 0.92 ND ND "
Selagwz | IR 12 22202IZA | 0.05 ND ND ND "
% ND : not detected(2& =)
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- '——]——- E i- -
[ 20089 sl 3= skxq3 HE33
] A E°5 = (mg/kg)
AT | S e | EHE 5 Z+ o E & H| 31
I [ Hode] [a2™]| Hosel
Ay UA2 52 10 S EF Ol A 2 0.03 ND ND ND Zre ok
1 S EF B A 2 0.71 ND ND ND ”
HUEZXS | 0.44 ND ND ND ”
P S EF O M 2 0.59 ND ND ND ”
S| HLUE=ZXS |0.55 ND ND ND ”
3 S EF B A 2 0.78 ND ND ND ”
gt ot HLE=ZXS |0.79 ND ND ND "
54 HLEZX S ND 0.09 ND ND ”
P S EF B A 2 0.81 ND ND ND ”
HUEZXS |0.17 ND ND ND ”
e
3 S EF O M 2 0.94 ND ND ND ”
HUEZXS | 1.69 ND ND ND ”
6 S EH MR 0.25 ND ND ND ”
2telE eS|
7 S EF B A 2 0.29 ND ND ND ”
HegAs a2 =5 S EF O M 2 1.48 ND ND ND "
_ 10 HUEZXS ND 0.01 ND ND "
oty AAETLE | HSH - -
16 HLEZXS ND 0.01 ND ND ”
golasA | HEM 8 HLUEZXS ND 0.01 ND ND ”
ool s22nAjE ND 0.20 ND ND ”
_ 2l S22 ND 1.46 ND ND ”
202 SEEb - —
EE s22TAHL ND 0.12 ND ND ”
T{ AlB19 s22uAy ND 2.60 ND ND ”
_ 8 CHOIOF K| = ND ND 0.42 ND "
SIE2I0F | BA
9 CHOIOF Xl = ND ND 0.27 ND "
R 57 HLEZXS ND 0.38 ND ND "
o2l Xl 52 - -
@y HLEZXS ND 1.92 ND ND ”
3 S EF O M 2 0.63 ND ND ND ”
e S| 4 S EF B A 2 0.39 ND ND ND ”
18 S EF O A 2 0.77 ND ND ND ”
W ES =3 Sl E} 0| M 2 0.11 ND ND ND ”
22 SR L1 S EF Ol M 2 0.11 ND ND ND ”
16 S E Ol A 2 0.16 ND ND ND ”
o s=2uAye ND 49.89 | ND ND ”
- EEENE ND ND 0.21 ND ”
. ) s22uAjE ND 21.35 | ND ND ”
s | EHA =17 —
s=2uAy ND ND 0.19 ND ”
. s=2uAy ND 33.47 | ND ND ”
- EEENI= ND ND 0.18 ND ”
Ot E S E} O M 2 0.29 ND ND ND ”
Adiorde |sM| OrRE? S EF Ol M 2 0.00 ND ND ND ”
301328 S EF Ol M 2 0.61 ND ND ND ”
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] A 2% = (mg/ke)
Zx3Y (P | EHE Ty Z+ 4 E ¢ H] 1
a3 | Hode] [ 23 | Hojgel
= B 2 S EFH AR 0.06 ND ND ND ZHT RRof
g _ w3 ol EpO A2l 0.08 ND ND ND ”
S SR
L 4 S EFH AR 0.13 ND ND ND ”
= =) EI2TAYE ND 0.12 ND ND ”
A0l 3A0IE = —
BN A13 22T AL ND 0.07 ND ND ”
23514 SI2AA = HUE=ZX 2 ND 0.72 ND ND ”
SHAH SR 11 HOHeR ND 6.13 ND ND ”
=4 SEHI M el 0.71 ND ND ND ”
=7 S EFH AR 0.09 ND ND ND ”
oo sl BN G SR AR 0.52 ND ND ND ”
= =1 SELH M 0.31 ND ND ND "
= o £ M2 0.45 ND ND ND ”
) ) =2 S EFH AR 0.08 ND ND ND ”
st BN
=5 S EFH AR 0.12 ND ND ND ”
Delot HEH 7 SR AR 0.33 ND ND ND ”
88 B =8 HCOH ND 0.95 ND ND ”
EH SR =3 s22TAHE ND 1.47 ND ND ”
. 6 CHOI OF K| &= 5.24 ND ND ND ”
T SEEbS| 7 CHOIOF K| &= 11.01 ND ND ND ”
HEZI2Y
8 CHO| OF K| &= 7.30 ND ND ND ”
ros CHOI OF Xl &= 0.08 ND ND ND ”
< 312 M 23 222qp|TA ND 0.08 ND ND ”
% | HEZIZY
HUE2X2 |0.11 ND ND ND ”
A EZ20 M2 ND 0.07 ND ND ”
sz S CHOI OF Xl &= 0.07 ND ND ND ”
k=2
HEZIZY . CHO| OF K| &= 0.08 ND ND ND ”
HUE=ZX 2 ND 0.06 ND ND ”
1 HLUE2X2 |0.12 ND ND ND ”
orx 0.0 312 HCIHE:S ND 2.74 ND ND ”
5 Ex20 M2 ND 0.07 ND ND ”
HICIH e ND 1.57 ND ND ”
1 HICIH e ND 1.81 ND ND ”
e i Eg2yMel ND 0.08 ND ND ”
k=l k=l el
5 2220214 | 0.30 ND ND ND ”
HIC|IH e ND .88 ND ND ”
Z=2t0l  |EA 4 222021ZA | 0.07 ND ND ND ”
6 ER2H M ND 0.06 ND ND ”
SHIXI C.C |3l H " Eg2H M |0.16| 0.05 ND ND ”
HUE=2X2 |0.06 ND ND ND ”
) ) =1 EZ2ME ND 0.06 ND ND ”
SYHIASA |32
=7 Ex20 M2 ND 0.06 ND ND ”
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A EF = (ng/ke)
ZxAY | Fe | WS 9% Z g E o H] 1
Jd |9 el | a2d | Hodel
1 HLEZX 2 0.12 ND ND ND ZE=2wok
o= Keg) | 312AH 6 HLE=ZX 2 0.06 ND ND ND ”
15 HLEZX 2 0.06 ND ND ND ”
14 Exzymeal 0.12 0.13 ND ND ”
=29 Ezz M 0.45 ND ND ND ”
=1 312 A
=25 Exrzymeal 0.45 0.11 ND ND ”
£6 Ezz M 0.16 ND ND ND ”
222[q2|ZA 0.08 ND ND ND ”
=7
Ezz M ND 0.07 ND ND ”
| 2227q2|ZA 0.07 ND ND ND ”
4
ZHOIZUA | 3IH Ezz M ND 0.06 ND ND ”
222[q2|ZA 0.06 ND ND ND ”
=1
Ezz M ND 0.07 ND ND ”
=7 Ezz M ND 0.08 ND ND ”
HUE=ZX2 0.08 ND ND ND ”
TROISLIA 1
= HEH Exrzymeal ND 0.07 ND ND ”
9 HLEZX 2 0.17 ND ND ND ”
2 Z227)g|EA 4.79 ND ND ND v
HIHAEIE | SI& X
6 222[q2|ZA 0.78 ND ND ND ”
ST =] EIEEE 0.08 ND ND ND ”
IS 16
G.C ExzmMel ND 0.06 ND ND "
HUEZX2 0.09 ND ND ND ”
=6
Exrzymeal ND 0.08 ND ND ”
HUE=ZX2 0.13 ND ND ND ”
== SR =8
Exrzymeal ND 0.08 ND ND ”
HUE=ZX2 0.12 ND ND ND ”
SIS =9
Ezz M ND 0.10 ND ND ”
= Exrzymeal ND 0.06 ND ND ”
2 HUE=ZZX2 0.11 ND ND ND ”
gdolase | KA
g HLEZX 2 0.11 ND ND ND ”
h szzgme ND 0.07 ND ND ”
1 Eztz M ND 0.07 ND ND ”
HCOOE ND 1.58 ND ND ”
SEH | OOIUAEl | SISH 5
Exrzymeal ND 0.07 ND ND ”
14 Ezz M ND 0.08 ND ND ”
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A =5 = (mg/ks)

AT | EZ3Y | g | E¥Hs o s Z+ g E Y H| 3L
J38 | el | 2™ | Holgdel
Z2202|ZTA 0.17 ND ND ND FETEEC
OrOICHAE2| | B R 17
HCINES ND 6.62 ND ND ”
CHOI O K| &= 0.06 ND ND ND ”
BH2|4
Exrzymeal ND 0.10 ND ND ”
TR AEIWMD|| 32 B2|8 CHOIOF Xl &= 0.10 ND ND ND ”
CHOI O K| &= 0.05 ND ND ND ”
2|9
Ezz M ND 0.07 ND ND ”
M8l 3R 823 Exrzymeal ND 0.09 ND ND ”
HEUZE | WEH melg Ezz M ND 0.07 ND ND ”
oty
X1 CHOIOF Kl &= 0.15 ND ND ND ”
B XI3 CHOIOF Xl &= 0.14 ND ND ND ”
IEHUAE| S H CHOI OF K| = 2.58 ND ND ND ”
H XI6
Ezz M ND 0.06 ND ND ”
B XI9 CHOI O Kl &= 0.10 ND ND ND ”
ERIEN=S CHOIOHKl &= 4.55 ND ND 0.01 ”
EEIES=) CIOIOFKl &= 0.15 ND ND ND ”
2| A | 32 H
CHOI O K| &= 0.13 ND ND ND ”
213
Exrzymeal ND 0.09 ND ND ”
% ND : not detected(2& =)
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0 20099 7] =3 s 25393
A =5 = (mg/ke)
AT | EZ3Y | ) | E¥H3E &9 Z E Y H] 31
a3 [ H el ad | Hojd el
22ToA 3 BICI K2 ND | 0.247 | ND ND 25250}
saTA g BICI K2 ND | 0.110 | ND ND "
SAamaly | 3R
) 252 1 BICIH e ND | 0.185 | ND ND "
o =3 1 BICI K2 ND | 0.168 | ND ND "
maw | geq 1 BICIH 2 ND ND ND 0.083 "
7 BIC| O &2 ND | 0.139 | ND ND ”
BICIH 2 ND | 0.869 | ND 0.013 "
st W ° HUE2%2  |0.522| ND ND ND "
9 BICIH 2 ND | 0.664 | ND 0.010 ”
o 2HIE | IEH 7 BICIH 22 ND | 0.070 | ND ND "
72 aaue | ozw 8 USIES, ND | 0064 | ND ND ”
0121 BICIH e ND | 0.065 | ND 0.010 "
2zt | SRM | a0l33 HICIO 2 ND | 0.265 | ND 0.010 "
dlol24 BICIH e ND | 0.177 | ND 0.012 "
13 HCIH ND | 0.635 | ND ND ”
BHe 2 2 K| 17 HCOIHE ND 0.417 ND ND "
18 HICIH ND | 0.453 | ND ND ”
19 HICIH ND | 0.152 | ND ND ”
BN e o BICIH e e ND | 0.287 | ND ND ”
S ELOH| M2l ND | 1.220 | ND ND "
Ofl 24 Off & 4 BIC| O &2l ND | 0.171 ND ND "
Ofl 24 01l &8 BIC| K &2 ND | 0.432 | ND ND ”
N 32 CH3I3 BICIH &2 ND | 0.210 | ND ND ”
gl 225 HCIHE R ND | 0.080 | ND ND "
CH313 S EFOH| A 2 ND ND  |0.030 ND "
EFOIH18 BIC| K2 ND | 0.089 | ND ND ”
DX | BIRM | 2tole9 HICIH e ND | 0.212 | ND 0.014 ”
2101218 BICIH 2 ND | 0.125 | ND ND "
_ _ A1 BICI K2 ND | 0.108 | ND ND "
TmoI2IZE | 32X -
=6 BICI K e ND | 0.064 | ND ND "
X & WE 6 BICIH e ND | 0.130 | ND ND ”
o35t | B 9 BICIH 22 ND | 0.062 | ND ND "
HOIAZA | BRI | AHINOIO9 IREEA ND ND | 14.440 ND "
AT AT HIC) O 2 ND | 1.082 | ND 0.063 "
AT A0 HICIH e 2 ND | 0.363 | ND ND ”
N > SRR | PRAI HICIH 22 ND | 0.571 ND ND "
DTG BICI e ND | 0.311 ND ND "
2IA10 HICIH ND | 0.370 | ND 0.018 "
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A E5 = (mg/ks)

T | EZ3W | FH HE R Zk g E & H] 31
a9 sHojdel | a9 | FHojdel
2 =2 SI2H 9 SEHH M 0.130 ND ND ND e
= | AJjtoleel | 32X 9 HOHZ ND 1.055 ND ND ”
2| ZEMAIE | SI&H 10 HOMEe ND 0.070 ND ND "
=32|0} S 11 HUEZX 2 ND ND ND 0.015 "
HECL 2™ 12 CtOIOtKl = 0.073 ND ND ND "
CtOIOtKl = ND 0.221 ND ND ”
i HLEZX2 ND 0.069 ND ND "
atet 2|3 CtOIOtKl = ND 0.237 ND ND ”
Sor ™ HLEZX2 ND 0.051 ND ND "
11 HLEZX 2 ND 0.051 ND ND "
ESZEANE ND 0.173 ND ND "
cam =T ° HLEZX =2 ND ND 0.016 ND "
ESI2LANE ND 0.090 ND ND ”
° HLUEZX=2 ND 0.057 ND ND "
1.2.3 CHEH 4 CtOIOtKl = ND 0.281 ND ND "
7 CtOIOtKl= ND 0.375 ND ND "
2==C.C 2|3 A 8 CtOIOtKl = ND 0.395 ND ND ”
9 CtOIOFXl = ND 0.378 ND ND "
3 CtOIOtKl = ND 0.301 ND ND "
28 32|
10 CIOIOF Xl = ND 0.280 ND ND "
- Q=% 5 CtOIOtKl = ND 0.179 ND ND ”
6 CtOIOFXl = ND 0.288 ND ND "
2 CtOIOtKl = ND 0.297 ND ND "
SHHI X 3 &A 7 CtOI Ot Kl = ND 0.341 ND ND ”
16 HLUEZX2 ND 0.054 ND ND "
=9 CtOI Ot Xl = 0.308 ND ND ND "
SgHIdEA) 32H N3 CtOIOFRl = 0.272| 0.231 ND ND "
M8 CtOI Ot = 0.341 0.326 ND ND "
CIOIOF Xl = 0.919| 0.072 ND ND "
1 HLEZX =2 0.100 ND ND ND "
CtOIOFXl = 0.580| 0.117 ND ND "
o= T - 4 2=220R|ZA 0.116)  ND ND ND y
HLIEZX& |0.108 ND ND ND "
CIOIOF Xl = ND 0.093 ND ND "
7 SZ=2T|eZA 0.134 ND ND ND "
HLEZX 2 0.301 ND ND ND "
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A E5 = (mg/kg)

x| JE | EWNE &9 Z g E < H 31
SEIESCEERIERER
CIO| O K| &= 0.660 ND ND ND FETEEC
2 =221)2|1ZA  [0.093 ND ND ND ”
HLIE=ZX2 |0.133| 3.523 ND ND ”
CHOIOFKI &= 0.988 ND ND ND ”
Mewal | 3R 4 2220RIZA  [0.053 ND ND ND ”
HLIEZX2 |0.099| 0.050 ND ND ”
CHOIOF Kl = 0.292| 0.066 ND ND ”
- 8 S=22qR|IZA  0.086 ND ND ND ”
IS
HLIE=ZX2 |0.145| 0.786 ND ND ”
A CHOIOF Kl = 1.175| 0.069 ND ND ”
HUE=ZX 2 ND 0.072 ND ND ”
Neeg
= e CHOIOF Kl = 1.304 ND ND ND ”
=)
8 ==220)R|1ZA  [0.134 ND ND ND ”
HLIEZX2 0.068 ND ND ND ”
- 1 CHOIOFKI = 1.612 ND ND ND ”
HolHEZ! | WEH
4 CHOIOFKI &= 1.508 ND ND ND ”
N EEERREY Bl 013 CHOIOF Xl &= ND 0.068 ND ND ”
o3 CHOIOF Kl = ND 0.319 ND ND ”
L0 CHOIOF K| &= ND 0.444 ND ND ”
22 3|2
16 CHOIOFKI &= ND 0.298 ND ND ”
217 CHOIOF K| &= ND 0.237 ND ND v
=6 CHOIOFKI &= 0.298 ND ND ND ”
THOICLIA | 3 2A =5 CHOIOF Kl = 0.164 ND ND ND ”
N7 CHOIOFKI &= 0.222 ND ND ND ”
= 5 CHOIOFKI &= 0.308 ND ND ND ”
- E]
S 7 CIOIOFRl = 0.328 ND ND ND ”
4 E22TANE  0.389 ND ND ND ”
A=y 0|3 | _ _
GC 312 A 8 E22TANE  2.504 ND ND ND ”
18 E22TANE  [0.737 ND ND ND ”
Ad=y0/3 CHOIOF Kl &= ND 0.348 ND ND ”
— | t=A 5
G.C s s=2UANE | 3.628 ND ND ND ”
A9 CHOIOF Kl &= ND 0.252 ND ND ”
Zz A Sl A
L8 CHOIOFKI &= ND 0.200 ND ND ”
=1 CHOIOF Kl &= 0.249 ND ND ND ”
%= | HoIARE | M =2 CHOIOF Kl = 0.283 ND ND ND ”
= CHOIOF Kl = 0.297 ND ND ND ”
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] AE5 = (ng/ks)
A | EZAY | FH | E¥s Ty Z g E Y H| 3L
a3 | sl | 2™ | dHojdle]
SE& | THOIUAEl | 3ILH 15 CHOIOFKI &= 0.459 ND ND ND ZRE ok
orolctA |
oo 3|2l 18 CHOIOFKI &= 0.303 ND ND ND ”
HUE=ZX 2 ND 2.611 ND ND ”
Z2/3
CHOIOFKI &= 0.259 ND ND ND ”
2| AEl
) 3|2 | HLE=ZX2 ND 0.355 ND ND ”
9 2| _
Z2l4
CHOIOF Kl = 0.300 ND ND ND ”
o3 HLE=ZX2 ND 0.128 ND ND ”
MEl 3|2 | w7 CHOIOFKI &= ND 0.056 ND ND ”
MWEHE | LEA ojol2 CHOIOFKI &= 0.279 ND ND ND ”
ool CHOIOFKI &= 0.112 ND ND ND ”
PJR
e atels CHOIOFKI = 0.216 ND ND ND ”
= 3l 2Rl
HIHAE _
ool CHOIOFKI &= 0.122 ND ND ND ”
figelfe! CHOIOFKI &= 0.135 ND ND ND ”
CHOIOFKI &= 0.165 ND ND ND ”
Je2|AEH
HLE=ZX2 |0.213 ND ND ND ”
SpjAg CHOIOF Kl = 0.152 ND ND ND ”
HHE|E sleM | 2lage
= HUEZX2 1]0.120 ND ND ND ”
CHOIOF Kl &= 0.165 ND ND ND ”
ERESST
HLIEZX2 0.365 ND ND ND ”
LAE 3 CHOIOFKI &= 0.193 ND ND ND ”
b =
A& . NP
7 CHOIOFKI &= 0.074 ND ND ND ”
% ND : not detected(2& =)
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- '——]——- E i- -
[0 20099 3] =4 2373 AE593
HEST(mg/kg)
AlZ2 | SZ3H S EHS SA4H & O E
2 |HOogol | OJ8 | HIoSAOI
Ll |gE3EMZuEe) 28 2Z=melEA |1.467| ND ND ND
T |sEgy™en| @ — ——
78 ==220/2/1ZA | 1.604 ND ND ND
18 CHOIOF K| &= ND ND 0.015 ND
BEZI0F | 3IH -
78 CHOIOF Kl &= ND ND 0.159 ND "
=2 3|2 58 YEH M2 10.083 ND ND ND "
A0t | 3l = dEFMMRE 0.053 ND ND ND "
o= HCIHE ND 1.922 ND ND "
==22Q2/ZA |0.493 ND ND ND "
HICIHEe ND 1.114 ND ND "
Adtoleel | 32w
E2zTAHE ND 3.206 ND ND "
=2=2212/ZA |0.405 ND ND ND "
==22Q2/ZA |0.640 ND ND ND "
HLIEZX2 |[0.512 ND ND ND "
HLEZX2 [0.624| 1.873 ND ND "
OFAIOILY | I W6E HLE=ZX2 [1.000| 2.113 ND ND "
E2E HUE=ZX 2 ND 1.153 ND ND
E145 HLEZX2 [0.659| 2.297 ND ND
dolgl1s HCIHE ND 3.064 ND ND
Al 32|
dolgl3s I ND 4.631 ND ND
U43= HLIEZX2 |[3.836 ND ND ND
) =18 HLIE=ZX2 |[3.838| 3.063 ND ND
shel 32|
=235 HLEZX2 |7.302 ND ND ND
=38 HLIEZX2 |[7.898| 1.166 ND ND
L=Xe]|
== Kl At CHE A 58 HICIHE:R ND 3.888 ND ND
Xl AF 32| 455 I ND 8.968 ND ND
Iy c 3H HCOHE ND 3.909 ND ND
=y
SRS 5H HOH e ND 2.411 ND ND
18 szzzAHE ND 12.750 | ND ND
B 32| 98 E2zTAHE ND 5.947 ND ND
188 E2zzAHE ND 15.241 ND ND
A0I3AOIE ]| BIH N14E O ND 1.926 ND ND
JOITAMOIE| HEM | S0IRBE | s22XLANHE ND 0.652 ND ND
_ ) EFOIH17 HCIHE ND 0.420 ND ND
IO EIEEDN| =
gtol217 HCIHE e ND 0.234 ND ND
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&= (mg/kg)

SN EEH EHS S4*H C| E
el |HOoSo | Od8! | Ho0]
AETO | HHSH ES2TANE | 0.400 ND ND ND =555
ot
mel3e3 | sIA HOIHE ND | 0538 | ND ND "
EVER,
3t 4 o AHCH 45 HOHZR ND | 1.700 | ND ND "
SRS
o= Oels | sIA 182 HCOIHER ND | 0873 | ND ND "
o Azm2(10 |[2He 42 s=2zzAge | ND | 0325 | ND ND !
T mMyaw) | am 8= s2zmAMe | ND | 0529 | ND ND ”
P o )| M 2 0.104| ND ND ND !
2= | HzaA | sEm 9 SELG MEl 0.104| ND ND ND !
152 SELp ME 0.083| ND ND ND !
e R 0213 ND ND ND !
MLATEAM| 6= R 0212| ND ND ND !
ObA 512 Al =
Et =62 C L M 2 0.188| ND ND ND !
=82 C L M 2 0226 | ND ND ND !
—3elor | _
512 Al sz2zAH ND | 3.619 | ND ND "
EEEE
ne HUEZXE | ND | 0.093 | ND ND "
stor 512 A . -
HUEZX & ND 0.138 ND ND "
=222/~ 0075 ND ND ND !
) HLUEZX 2 ND | 0.262 | ND ND !
%=C.C. | sl2A - -
HLUEZ 2 ND | 0.336 | ND ND !
HUEZX 2 ND | 0.126 | ND ND !
==z=mgZA | 0057 ND ND ND !
2= 512 A ==z=m2/ZA | 0087 0338 | ND ND !
==z=melzA 0062 ND ND ND !
z=20 | HEH ==z=me=A | ND | 0074 | ND ND !
==z=m2/ZA | 0063 ND ND ND !
SHUIZI | B2 A ==z=m2/ZA 0184 ND ND ND ”
==z=melzA 0977 ND ND ND !
CHOIOFX| = 0.356 | ND ND ND !
==z=melzA 0631 ND ND ND !
NME | sl2w HUE=Zx2 |0141| ND ND ND !
6 CHOIOHK| = 0370 | ND ND ND !
9 CHOIOFK| = 0.207| ND ND ND !
~ . 5 CHOIOFKI = 0.339| ND ND ND !
oE | dEwel | sem
9 CHOIOFKI = 0.067| ND ND ND !
1 CHOIOHK| = 1200 ND ND ND !
NERIHE| =R CHOIOF R &= 0.994| ND ND ND !
=z=meZA 0149 ND ND ND !
j ° CHOIOFK| = 0.095| ND ND ND !
MolHEe | HEA - .
HUEZX 2 ND | 0.161 ND ND !




&= (mg/kg)

A. &2 SN S EY EHS S4*H & C & ¢ H 2
g |HOHAIOo| gl | HOo{RO0|
CHOIOFKI = ND | 0.086 | ND ND  |Zes=E=
3
HOIAEIS | CHEH szanzzA |0229| ND ND ND ”
6 szamezA |0209| ND ND ND "
A HUE2x2 | ND | 0083 | ND ND "
9
ol &=
e e coloik= | 0.057 | ND ND ND ”
G.C
15 HUE=232 | ND | 01410 | ND ND ”
= | s =2 CHOIOFKI = ND | 0.122 | ND ND "
A1 CHOIOFKI = ND | 0082 | ND ND ”
s BEY M2 CHOIOFKI = ND | 0.097 | ND ND "
A3 CHOIOFKI = ND | 0156 | ND ND ”
ColotXl= | 0.258 | 2.038 | ND | 0.027 "
a9
HUE=232 | ND | 0349 | ND ND "
Ot$
colotxl= | 0229 | 2208 | ND | 0.019 "
=7
HUE=232 | ND | 0237 | ND ND "
aolgec | s
ColotXl= | 0215 1.843 | ND | 0.011 "
=6
HUE=232 | ND | 0566 | ND ND "
colotxl= | 0202 1.915 | ND | 0.014 "
=g
HUE=232 | ND | 0267 | ND ND "
1 colotxl= | 0.702|  ND ND ND ”
ssa | ColdAE | B2 13 ClololXl= | 0.560 | ND ND ND "
18 Cololxl= | 0.734|  ND ND ND ”
wp|0 HUE=ZXS | ND | 0062 | ND ND "
lolciAmel| sl
|3 HUE=232 | ND | 0433 | ND ND ”
pIE
NEHUAE| s HIXI5 HUE2x2 | ND | 0057 | ND ND "
Jejagwal| sa wp|7 szamezA |0.052| N ND ND ”
3 ClololXl= | 0.086| ND ND ND ”
od |LAazAED| HIEH
6 ClololXl= | 0.054| ND ND ND "
¥ ND : not detected(2& =)
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5757 = =313
1 20109 AMb7] =4 F373% AE533)
HE = (mg/kg)
Al.& =2T3Y S EH EHs sS4 & e Hl 2
el | Hofol | gl | HoKlol
L3 SEIH MR | 0.097 | ND ND ND | EessEs
= U5E o EFGH M 2 0.055 ND ND ND "
Ora (LA =M| 3R
£ e SEHH Al 0.069 ND ND ND n
=78 SEIH MR | 0.246 | ND ND ND "
HSyg gNE | sl 16 HC|H e ND | 1298 | ND | 0.223 "
Sy 6 HC|O e ND | 439 | ND | 0.280 "
HIZOH
= 8 HOIH ND | 2.002 | ND | 0.173 ”
=1 HUEZT S ND | 1.904 | ND ND "
oz | PIHOIBIZES BIEA M1 HUEZT S ND | 0995 | ND ND "
A2 HUEZX S ND | 1.692 | ND ND "
20132 N ER ND | 1.032 | ND ND "
S sl | dol3s HC|O el ND | 0600 | ND ND "
=1=p) HC| e ND | 0699 | ND ND "
° el ER ND | 4.645 | ND ND "
yo= 512 | 4 HC|O e ND | 6.887 | ND | 0.079 "
18 HC| el ND | 1.102 | ND ND "
M1 HC|O e ND | 6.488 | ND ND "
T ES VE M8 HC|O e ND | 14.775 | ND ND "
M9 HC|H e ND | 14.610 | ND | 0.136 "
OoF == s2z2zAyg | ND | 1.010 | ND | 0.105 "
M3
HCIH e ND | 3781 | ND | 0.209 "
s=512 | sl
s=22FAHY | ND | 0931 | ND | 0.109 "
M9
Bl e ND | 3336 | ND | 0312 "
9 HC|O e ND | 5318 | ND ND "
CES =RV ES 13 HC| el ND | 3.070 | ND ND "
18 HC| el ND | 11.998 | ND ND "
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2 E s (mg/keg)

STy SEN EHS S¢Y &HC EY
gl [ HOool| O | Ho Kol
o) R ND | 2.083 | ND ND
Sz2m2EA | 1.021 ND ND ND
w23 HCI e ND | 1.911 | ND ND
) S=z=2m2ZA | 0.908 | ND ND ND
Agtorgel | sl ~
wp|7 HCI R ND | 9.296 | ND ND
Sz2m2EA | 0842 | ND ND ND
o9 oK ND | 10.316 | ND ND
Sz2mEA | 1232 | ND ND ND
2 HOHe ND | 0548 | ND | 0.127
Adtolgel | o= -
6 HOH e ND | 2062 | ND | 0.124
010129 HOHZ ND | 1581 | ND ND
) ool A2 HOH e ND | 10.010 | ND ND
o= O — -
H2I% HOHZR ND | 3.784 | ND ND
H2I%|9 HOHZ ND | 4875 | ND ND
NE 512U 8 HOHZR ND | 1.417 | ND ND
ATAT HC R ND | 12.096 | ND ND
ATAT0 = ND | 32.824 | ND ND
e ND | 1.264 | ND ND
2 sl2m | PRAS oM ND | 23220 | ND | 1.614
23A10 = ND | 13.601 | ND ND
EEPeP = ND ND ND | 1.584
gEiMel | 0.067 | ND ND | 1.584
] ol HO e ND | 2214 | ND ND
Al BEY]
s2=8 YGEIHMR | 0.051 ND ND ND
] ] In4 O ND | 0824 | ND ND
Ak S -
outs oK ND | 1.840 | ND ND
HAAL R ND | 4.945 | ND ND
20 o
clOISAOIE | 2= Al BLER ND | 3.699 | ND ND
HIA15
S} M 2 ND | 0.056 | ND ND
=344 BO e ND | 51422 | ND ND
HOH ND | 4.389 | ND ND
=346
cil M2
=349 BCo R ND | 3217 | ND ND
LA AD oM ND | 7.203 | ND ND
GDAG BCIo R ND | 9735 | ND ND
: HOHR ND | 4364 | ND ND
osta | s 2 oM ND | 0442 | ND ND
3 BCIo R ND | 1.543 | ND ND
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HdE= < (mg/kg)

(EEN) EYS Sy & E Hl2
Jel | HIOHOol | 8! | HO 0]
A3 EER ND 0.851 ND ND 2E==
SEEb| o8 HCIHR ND 1.758 ND ND ”
=4 HCIHER ND 0.465 ND ND "
2 BIC| Ol & 2 ND 2.205 ND ND "
3|2l 5 HCIHE2 ND 2.183 ND ND "
6 HCIHE2 ND 1.555 ND ND "
22 BIC| Ol & 2 ND 1.923 ND ND "
=R -
24 HICIH 2l ND 1.075 ND ND "
. oY) HCIHR ND 1.818 ND ND "
=20 SE -
6 HCIHR ND 1.018 ND ND "
4 HICIO 2l ND 5.282 ND ND "
=R -
6 HICIH 2l ND 4.030 ND ND "
ELOI H5 HCIH R ND ND ND 0.158 "
32AM | EHOIA10 HCIH 2 ND 1.810 ND ND "
20129 HCIHER ND 0.895 ND ND "
S A9 SUEH M2 ND 0.052 ND ND "
=
16 SEIH MR ND 0.056 ND ND "
SEEb s= SQEIH MR 0.162 ND ND ND "
8 HCIHE2 ND ND ND 0.099 "
SR 10 HIC| Ol & 2 ND 0.722 ND ND "
12 BICIOI 2l ND 1.781 ND 0.122 "
o N 3 N ER] ND ND ND | 0.152 "
e 82|19 HCIHa ND 1.237 ND ND "
=R 4 HCIHEa ND ND ND 0.210 "
o= S 3= SUEH M2 0.051 ND ND ND "
R EL=E] _
22 . = SEIH MR 0.127 ND ND ND "
3|2l 18 BICIH Rl ND 0.074 | ND ND "
HLUEZXS | 0.072 ND ND ND "
ARAT -
HICI O ND 0.292 ND ND "
. HUEZXS | 0.081 ND ND ND "
AW | 22AI18 -
- ot HCIHE:S ND 0.195 ND ND Vi
Lo
ADAT HLEZXS | 0.064 ND ND ND "
ANTAS HUEZXS | 0.063 ND ND ND "
CHE R 3 HCIH 2 ND 0.328 ND ND "
32Tl 5 = ND 0.051 ND ND "
2z27q2/ZA | 0.206 ND ND ND "
7 HLUE=ZZX 2 ND 0.045 ND ND "
SEEb BIC| Ol & 2 ND 0.126 ND ND "
8 2z27q2/ZA | 0.025 ND ND ND
12 22202/ZA | 0.052 ND ND ND
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2 E s (mg/keg)

A2 | 2ZXY | (HH) | &8s =oty L EY HI D
O |mofglol| Ol | Hogol
=1 HCONES ND 0.935 ND ND SESE=ES
HefE | HIEEA | A
=6 HCOOHES ND 0.212 ND ND "
13 CHOIOF Kl = 0.053 ND ND ND "
NA2 EIEEPN] 15 HCOHES ND 3.413 ND ND "
ESS2ZAHE ND 0.169 ND ND "
11 CHOIOF Kl = ND 0.061 ND ND "
HCOHES ND 2.205 ND ND "
AL S| H 12 FOIOFXI ND 0.025 ND ND "
HCOHES ND 1.022 ND ND "
13 HCONE ND 2.492 ND ND "
2 HCONE= ND 3.693 ND ND "
or== ESS2ZAHE ND 0.020 ND ND "
AL CH=H 3 HLEZX& ND 0.053 ND ND "
ZZ20el=ZA | 0.114 ND ND ND "
EES2ETAHE ND 0.026 ND ND "
3 HLEZX& 0.056 ND ND ND "
MolHZ¢e A 6 HLEZX& 1.802 ND ND ND "
ZZ210elZA | 0.539 ND ND ND "
1 HLEZX& 0.078 ND ND ND "
HIAELZ| CHE A 3 HUE=ZX2 0.322 ND ND ND "
ZZ210el=ZA | 0.053 ND ND ND "
e S= EIECPA] A1 HLIEZX2 ND 0.058 ND ND "
2| AES HCONE ND 0.054 ND ND "
g | 2elasedel | 33A
2l AES HCONE= ND 0.055 ND ND "
% ND : not detected(22 &)
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18. CIORRL! ZAF 3 Z=AI S=E1 242K2008 201050

1. CIO|S&iHA} 2iE

B
5 m 4 = 20084 20094 20109 B 3
Al 21 22 7
1 A A 5 - 2
A =2 A 16 22 5

1 2008y A=A

O "W At 54
(&9 : ng-TEQ2/Sm')

==} A A g A 3} = " 1
2.1 | 35 AANEAEF 128874 0.02 5.0

3.7 | TYUA AAIFAE1ZT]) 0.00 0.1

4. 11 TUA AL S FAA (2§7]) 0.00 0.1 Ak k-1
9.16 | +YA AUIFARAZ)) 0.09 0.1 SR
9.17 | YA ALIFAEQ2EY]) 0.02 0.1

O A=A : 161 (A 5 24 11)
I -C‘)]
(%] : ng-TEQ/Sm’)

AA L=} Al A 4 3} 71 vl 31

5. 14 | XA AAF V=SS AEAA 0.00 0.1

5.15 | QFYFAl AL 3] Al A 0.01 0.1 . A B | &

5.19 | 8914 Folg] #4ME(257)) 0.00 0.1 SR

5.22 | A A3 A 0.00 0.1

- . K7 1E

1110 | QHFA] 341 327 11.57 00 | EEVE

2) TEQ(5A571H8HFsE) : Toxicity Equivalancy Quantity2] SFAFZ A Aol fagk tho] &4l 17714 $/HE 4

-
sfe] 1 Zzte] ool 7 BHE SHASE FH 5 A &
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(%] : ng-TEQ/Sm’)

AAL= Al A 2 3} 7% H] a1
6. 17 | SFHA (FH)EIEH=EL 1.94 5.0
6. 19 | A ZAHAY 5.94 5.0
6.20 | EHA (F)VIEAH 0.83 5.0 AR | 5
9.26 | TAA Axz} 0.64 10.0 AZAE
9.29 | XA 23R 0.68 10.0
10. 8 | XHA v Y9F 4.27 5.0
10. 22 | TN AL S FAA 0.01 0.1
10. 27 | LFA A ANHAAA 0.00 0.1 A7 E
10. 28 | QJARA A3 FA A 0.00 0.1 azpAd
11. 5 | 354 &4 AH 0.02 0.1
1.7 | ZRAA 22849 11.25 5.0 "E;ﬂif

] 20093 A%

O AZ=HA : 227 (EA 11, 24 11)

o
(&9 : ng-TEQ/Sm’)

A A2t Al A ZERus 71 & vl 1
2.5 | RHA (F)HIHE| 0.70 1.0 AR
3.4 | QA B4 3EH 4.80 10.0 aZpAld
511 | %A SA4AY & 0.03 0.1
5.14 | U AL AL 2E7]) 0.01 0.1
5.15 | $HARAl A3 A A 0.00 0.1
5.19 | #HA AA3FAA 0.00 0.1 )
10.5 | BHA A3 A4 0.08 0.1 ‘i%ﬁmf
10. 9 | oA FAAAI]FAIA 0.01 0.1
10. 12 | A4l A HAAIA 0.00 0.1
10. 14 | &< FA P AH 0.00 0.1
10. 16 | FHA H7E=FTFAHAA 0.00 0.1
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(%] : ng-TEQ/Sm')
AR L= A A A 3} 71 Hl 31
4. 22 | FFA LR 0.57 5.0
4. 23 | FFA A FETAA 24.22 5.0
4. 27 | FFA HEA R 0.86 5.0
4.29 | &FA dYHZ 0.23 1.0
5.1 | FAA dEFA 50.73 10.0
- . 52| A L
7.8 | TAA LA 2.49 s0 | RN
7.20 | FAA HEFA 1.07 10.0
10. 7 | A HsEFEAA 1.72 5.0
10. 26 | FFA FERAF 3.32 10.0
10. 28 | FFA (F)EFE=7E 6.75 10.0
10. 30 | ¥FA (FFFEY 0.91 5.0
[12010d 23 (9€% 71F)
O W AHAF . 24
(%% : ng-TEQ/Sm’)
SA LA A A a3} 71E Al A
4. 30 | AAHRA AJ3)FEAH1E7)) 0.03 0.1 .,\igi—qulq%
4.29 | ARA AL FAHEQE)) 0.01 0.1 &2
O A=HA .51 (BAH 3, 24 2)
(%] : ng-TEQ/Sm’)
AL A A A 3} 7| H] 31
09.12.14 | LA 9R(AB A ) 3.04 5.0 2%
ARFEP =
‘09.12.15| ZZA] th7](MEE ) 1.49 5.0 A
2.23 | &2 WYyzQRE7)) 2.18 1.0 s
2.24 | £91A W AEE]) 0.73 10 | AREEVIE
A
7.5 | &AM W= (23 7)) 0.27 1.0
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O E 9oF
(&9 : pg-TEQ/g)
4 = 20083 20093 20103
8] £ = & =
2 W 1.217 2117 2y =
(0.230~2.420) (0.288~6.212)
o FAF 2 HAEY
(9] : 3 pg-TEQ/L, 4 E pg-TEQ/§g)
20094 20103
3 = 20083
o] 4 R
A BAHE A EAHE
QFokH - 0.134 1.219 A = B =
S A
° ZzA ] 0.079 18.675 ) ,
3)
g A - 0.046 0.601 " ”
74+ - 0.079 0.714 ” "
_ B3td - 0.020 0.539 ” ”
el A
(4) .
&3t A - 0.029 0.745 " ”
v A - 0.009 14.388 " ”
o1 -
_ Z_l\ﬁ/fd - 0.031 1.167 ” ”
dgRgA | (&)
@ 294
(%L?_]_.) - 0120 0709 " Vi
ZIEFd (1) | wrEA - 0.092 1.818 ” ”
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3. CHO|S Al 917 $1& (20084 ~2010L1)

120084
O A7 @&
- 7)== A F thol Sl Az 81 91314 712008, 39)

AT &9 53
- ok 7] F tho]8Al @ Co-PCBs SUEA ZAF © 34 Hr)

(2008. 4. ~ 2009. 2. (117} %))

O thol SAl=A 88 (G, WYY
- T 2ol A WE trol Sl =W}

1 20094

O trol&Al=Ast=t 3] (T, 54) -
- B715 7] & telFAl B Hols4l 1A PCBs § % B 4

O 35 A=AE FH LAY IAFFAT +3(2009 ~20104)
- Passive air samplerE ©]-&3%F Tho]&4l, dI-PCBse| 7] EUE Y A&

[-'Ll

s AT
120109
o 374

o] SalF =AAT BuA vlZ(20109 1€)
FY A FAFTEAT F3(2009K ~2010)
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19. 317) Al E40fl B8t $EIZAL LR} =X| 348
(] AAM S 20100 99 e &
A Ad 49
AT v 3l
A F T2 (%)
Z A 317 1(0.3)
FLA 30 0
Al
A
QFQFA] 12 0
QFAFA] 3 0
20 70 0
HEA
B A
PAE-SN 59 0
TEA 3 0
sk A 3 0
A 1 0
FTA 5 0
A Al
shdAl
o) A
247 23 0
A
o] % Al 1 0
o F
C>o]zjc:>1 E_
A 16 0
FFA 31 1(3.2) FAY  gE
TGA
A 1 0
T Al 15 0
EZ A 9 0
FFA 7 0
A 20 0
74
AT 8 0
mE T

O = Al - o aujdFoly dAdobs AAEAE s Al - 2l
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20. AUiS7|A BAF XY =X sig 2 EXMF

[ A 2A

A A
T FAg Al
A A
thFo] A A 41 85 6
olutE FHAASF 31 31 8
ol E B FAHAAH] A 64 64
71 EHAH-A) 36 40
OFAg e 2 =283
O A=F&TH
Ad | TF FEH| SAHL AR ez g5 A&
o]d | BolutE | 39 15¢ | 101-2002 EF4d 11728 g/ m' 7Nl
9 | GH o9 E | 4€ 23¥ | 101-1302 E24 10865 pug/m' y
£¢ | DB ol9%E | 5¢ 7¢ 104-1503 EZ9l 14604 pug/m’ ”
€9 | DB o}9E | 5¢ 7¥ 104-201 EF9 11244 pg/m ’
€2 | JG olgtE | 549 12¥ | 103-1902 EF4 1306.6 g/ m’ y
€2l | JG o9 E | 5¢ 129 | 103-1101 EF9 1599.2  pg/m’ y
22 | JG o9 E | 5¢ 129 | 103-1102 EF9 2011.0 pg/m ’
42 | JG olgE | 59 129 | 103-101 =749 1649.7 ug/m y

*

712 ET(1L,000us/ m)
O Bl g&AA

NExd 9%
AR | AETE | AER Z4d [ACHO| CO [PMI0 [gAlZ| VOC A&
(¢g/m) | (ppm) |(ng/ m)|(CFU/ m') | (1g/ m')
okeF (A st=247H 00482 (2€ 19¢ 1,828.4 RS A
orek |5t =47} 004232 |59 03Y 788.0 ”
(e}
S| Ay | 07 (29 029] 1601| 204 HAE 08
5 % ) 2] 1 Q) ] FEE 409
[}
3o | BgAA [000] ol |74 209 2522 | 1602 HAS s
o FeH B 6071
AR BEAA |00o]Ho] Y (8Y 24Y 1346 0 #(10.11.30)

%7]% : HCHO: 100 ug/m’, CO :10ppm, PM10 : 150CFU/ ', ¥4l 800CFU/m’, VOC :500ug/ m'
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] (¢] H\ [e] 7 7] }E)].Z]-JE—'—
O Axd 73424
= i
2 A = 7 . 51—
F 7] A A3
2008 42 433, 5, 8, 108 3, ok 6,048 ( - )
2009 46 |43](3, 5, 8, 109 3, °kzh) 6,624 (19 )
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1. ¥ 3a SAHZAL U SAAERE
O 20084
2008 SO, NO, 05 CO PM10
(ppm) (ppm) (ppm) (ppm) (ug/m')
14 0.009 0.036 0.012 1 74
24 0.01 0.028 0.019 0.5 72
3¢ 0.009 0.031 0.022 0.6 103
44 0.01 0.03 0.031 0.4 103
54 0.012 0.025 0.026 0.4 85
6 0.008 0.023 0.03 0.4 68
7 0.009 0.02 0.023 0.4 53
8¢ 0.007 0.022 0.029 0.4 44
9¥ 0.006 0.033 0.018 0.5 54
10¢ 0.008 0.037 0.018 0.7 73
114 0.008 0.036 0.01 0.6 61
124 0.008 0.03 0.013 0.7 61
B 0.009 0.029 0.021 0.5 71
O 2009
2009 SO, NO, O3 CO PM10
(ppm) (ppm) (ppm) (ppm) (ug/m’)
1€ 0.009 0.035 0.013 0.9 59
24 0.011 0.032 0.016 1 78
3¢ 0.01 0.028 0.022 0.5 67
44 0.015 0.029 0.031 0.7 74
5¢ 0.014 0.02 0.033 0.4 68
64 0.013 0.017 0.034 0.4 64
74 0.01 0.016 0.03 0.4 57
84 0.006 0.016 0.023 0.4 48
9¢ 0.006 0.035 0.022 0.7 64
10¥ 0.011 0.038 0.022 0.7 68
114 0.01 0.031 0.019 0.7 57
124 0.009 0.033 0.014 0.8 70
Hat 0.01 0.028 0.023 0.6 65
O 20104
2010 SO, NO, O3 CO PM10
(ppm) (ppm) (ppm) (ppm) (ug/m’)
14 0.012 0.039 0.015 0.7 58
24 0.01 0.034 0.021 0.7 55
3¢ 0.011 0.027 0.031 0.7 65
44 0.012 0.043 0.03 0.6 62
5¢ 0.013 0.031 0.039 0.6 69
64 0.014 0.033 0.037 0.5 64
74 0.007 0.016 0.027 0.5 44
84 0.007 0.019 0.024 0.5 43
9¢ 54 =7 (& o3l)
1t 0.011 0.030 0.028 0.6 58
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2. NEEd S84 VY SAAR
] 20084
2008 SO, NO, O3 CO PM10
(ppm) (ppm) (ppm) (ppm) (ug/m’)
14 0.011 0.04 0.012 1 55
2¢ 0.012 0.033 0.02 0.9 56
34 0.012 0.036 0.021 0.9 63
44 0.013 0.034 0.031 0.7 64
5¢ 0.009 0.031 0.029 0.7 53
6¥ 0.006 0.025 0.03 0.6 38
- 0.007 0.022 0.019 0.6 31
8¢ 0.005 0.023 0.025 0.6 31
9¢ 0.006 0.035 0.021 0.7 43
10¥ 0.008 0.04 0.021 0.8 60
114 0.008 0.036 0.011 0.8 47
12€ 0.011 0.034 0.011 1 52
1t 0.009 0.032 0.021 0.8 49
O 2009
2009 SO, NO, O3 CO PM10
(ppm) (ppm) (ppm) (ppm) (ug/m')
14 0.01 0.041 0.013 1 47
2¢ 0.012 0.036 0.016 0.9 64
34 0.007 0.028 0.026 0.7 53
44 0.012 0.032 0.036 1 59
5¢ 0.01 0.029 0.038 0.6 51
6¢ 0.011 0.021 0.038 0.6 44
! 0.01 0.021 0.04 0.4 45
3¢ 0.009 0.021 0.032 0.5 39
9¢ 0.009 0.035 0.028 0.6 56
10€ 0.009 0.033 0.024 0.6 67
11¢ 0.011 0.033 0.016 0.7 61
124 0.011 0.034 0.014 0.8 89
Hat 0.010 0.031 0.027 0.7 56
1 20104
2010 SO NO, O3 CO PM10
(ppm) (ppm) (ppm) (ppm) (ug/m’)
14 0.012 0.042 0.015 0.8 75
2¢ 0.011 0.036 0.019 0.7 66
34 0.009 0.032 0.027 0.7 77
44 0.009 0.032 0.032 0.7 62
5¢ 0.011 0.029 0.039 0.6 66
6¥ 0.011 0.038 0.038 0.5 62
74 0.013 0.024 0.028 0.6 39
84 0.009 0.024 0.024 0.5 39
9¢ 0.007 0.025 0.025 0.6 37
Hat 0.010 0.031 0.027 0.6 58
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S A AXIZH .
28. stul g FEZA £
dEwF FRAHAAY
u A A9 o
T i 0w

9 0= a T2 3H(%)

2008 13,748 873(6.4)

2009 14,959 1,380(9.2)

2010

o 10,392 599(5.8)
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